Unit 1
What is Economics?

There are many definitions of economics, each trying to encapsulate the
fundamentals of the subject. No completely satisfactory definition has yet been
derived, but most definitions that have been suggested emphasise the point that
economics is about allocation of scarce resources which have alternative uses.
While most economists would accept this statement, if you are starting economics
for the first time you are unlikely to find is helpful as a definition. Let us begin by
examining the statement in a little more detail.

The Economic Problem

To the non-economist it might seem confusing to refer to «the economic
problem» as though there were only one such problem. In fact, there are many
economic problems. Increases in the rate of inflation or unemployment frequently
make headline news, as does the state of the balance of payments. Poverty and
income distribution might also be thought of as important economic problems, and
in recent years increasing attention has focused on the importance of the
environment. They are all economic problems, so why do economists refer to «the
economic problem?»

In fact, all of these economic problems arise because of the existence of
scarcity, and they are the result of different choices made by society. The terms
«scarcity» and «choice» therefore epitomise the economic problem, and it is to a
discussion of these that we now turn.

Scarcity

All societies (with the possible exception of primitive cultures) face the same
fundamental problem: unlimited desires but limited ability to satisfy them. Human
beings seem to desire ever higher levels of consumption: as soon as one particular
level of consumption is achieved, a new and higher level is desired. There are
many possible reasons for this, but the fact is that while there is no limit on the
desire for increased consumption, there are clear limits on the means of satisfying
these desires at any moment in time. Over time an economy can produce greater
and greater levels of output, but this does not alleviate the problem of scarcity
since desires will also have increased.

All societies possess limited means of production. Economists refer to the
means of production as resources and these consist of land, labour, capital and
enterprise or the entrepreneur. The nature of these resources is discussed more
fully. Here the important point to stress is that all output is created from these
resources. Let us look briefly at each in turn.

Land 1s defined to include all the free gifts of nature. It therefore consists of
the ores and minerals in the ground, trees and forests and so on,

Labour 1s defined as human effort - both physical and mental.



Capital is defined as any man-made aid to production. It therefore includes
factory buildings, machinery, processed raw materials and so on.

Enterprise consists of risk taking and decision making. The individual (or
individuals) who take decisions about what output to produce, and risk funds by
undertaking production, are considered to perform a unique economic role and are
therefore considered a separate factor of production. This factor of production is
usually re ferred to as the entrepreneur.

At any moment in time there are clear limits on the availability of resources.
For example, the supply of labour is fixed by the size of the population who are
within the working age groups, the length of the working day, the working week
and so on. It is a fact that, at any moment in time, these resources are limited, and
this limits the quantity of output that can be produced, and compels society to
make choices.

Before we move on to consider the nature of the choices which all societies
must make, there is an important point which we must emphasise. Because
society's resources are limited, the incomes received by the owners of these
resources will also be limited. It therefore follows that the economic problem
cannot be solved by government increasing the amount of money in circulation;
this would not affect the total stock of resources: instead, it would simply lead to
higher price.

Choice

Because society cannot have all the output which it desires choices have to be
made. In fact there are three fundamental choices sometimes referred to as what,
how and for whom.

What to produce: This is sometimes referred to as the problem of product mix.
Since society cannot have all the output it desires it must choose what output is
going to be produced from its scarce resources. At first glance the answer might
seem obvious: we need food, clothing, shelter, and so on. However, the answer is
in fact not obvious at all because more of one thing means less of something else.
We have only a limited amount of resources and if more and more of these are
devoted to the production of food, less and less are available for the production of
other things. Of course we need a certain amount of different foods to survive but
in the EC (as well as in other parts of the world) there are food surpluses which in
some cases are destroyed. More generally, we must choose whether resources
should be used to produce more motor cars or more buses, more hospitals or more
schools, and so on. This is an important issue and relates to what economists refer
to as the allocation of resources.

How to produce: This is sometimes referred to as the problem of «factor
combination» Whatever goods and services society chooses can usually be
produced in a variety of ways. A basic distinction is between capital-intensive
production and labour-intensive production. The former uses large amounts of
capital relative to labour, while the latter uses large amounts of labour relative to
capital. Motor cars, for example, can be produced by people or by robots. Should
power be generated by using oil, coal or nuclear powered generators or should we



rely on wind and wave power? Should more of our goods be transported to market
using road links or rail links? These decisions clearly affect the efficiency with
which we use our resources and the greater the efficiency, the greater the output
that can be produced from any given quantity of inputs.

For whom to produce: This is sometimes referred to as the problem of
distribution. How is output to be distributed to ultimate consumers? In other
worlds, who shall consume the goods and services we produce? Since society
cannot have all the output it desires, there must be some mechanism for
distributing the limited amount of goods and services that is produced among
consumers who, in general, desire more. How much petrol should each motorist
receive, and how many holidays should each person be permitted?

Again, there are different mechanisms available. It is possible to organise a
system of physical rationing where all consumers receive the same amount of
goods and services for every member of the family. This is not just a feature of
East European economies where rationing is still common but was the basic
method of allocating output in wartime Britain. A different method of distribution
is to allocate output through the market - that is, allow consumers to buy
whatever they can afford. This raises another aspect of the problem of distribution,
that of income distribution. When consumers are free to buy whatever they can
afford, those with higher incomes will obtain a greater share of total output than
those with lower incomes. Complete physical rationing or distribution through the
market are the extremes; in between there are different combinations, and society
may choose one particular combination in preference to another.

These basic choices - what, how and for whom - are clearly interdependent.
Any decision about what to produce also implies a decision about the way that
output is to be produced. The way society makes these choices and the
implications of its decisions are what the study of economics is really about.

Opportunity Cost

We have already emphasised the point that since resources are limited more of
one thing means less of something else. This notion is extremely important in
economics and is referred to as opportunity cost. Strictly defined, opportunity
cost is the next most desired alternative foregone: if we use our resources in one
way they are not available for use in another. It is important to realise that an
opportunity cost does not necessarily imply a money cost: it simply involves an
opportunity given up. It is therefore relevant in decisions taken by all economic
agents-that is, individuals, firms, other organisations and governments.

All individuals have a limited income and must decide what proportion to
spend and what proportion to save. Having decided how much they wish to spend,
they must decide how to allocate this between different goods and services which
they might wish to buy. How often have you been faced with decisions such as
whether to buy one compact disc in preference to another, or one video in
preference to another? More generally, how often have you made decisions such



as whether to buy a pair of jeans or a pair of shoes? In such cases, what you give
up is the opportunity cost of what you buy.

The concept of opportunity cost is equally important for firms: when the
economic life of an existing machine is over, the firm must consider whether to
replace it and if so whether to change the method of production by adopting a
completely different technology. Governments must also consider the opportunity
cost of any decision they take. For example, in 1990 the government announced
plans to create a new national forest in the Midlands. What is the opportunity cost
of this? Obviously resources will be devoted to growing and planting saplings.
Forestry workers will be employed in tending and caring for them.

Active Vocabulary

availability — nanuuune

choice — Bb1OOp

circulation — oOpaienue (JieHer)
coal — yromnn

confusing —

distinction — paznuuue; oTIMYUE
efficiency — a3¢dexTuBHOCTH
enterprise — npeAnpusiTUe
entrepreneur — rpeaIpUHUMATEIb
fundamentals — ocHOBBI

gift — nap

implication —

obvious — oueBUIHBIN
opportunity — BO3MOXXHOCTb

ore — Kyja

poverty — 6 JTHOCTh

primitive — nepBOOBITHBIN
rationing — HOpMUpPOBaHUE

rely on — paccuuThIBaTh Ha; MOJIAraThCs
sapling —

scarce — CKyIHbIl; OTPaHUYECHHBIN
scarcity — CKyHOCTb; eUuIuT
shelter — xpoB; yoexwure

surplus — u3nuIex

to afford — mo3BouTH cebe

to alleviate — oOeruathb; ocadIIsATH
to compel — mpu3bIBaTH

to desire — xenaTpb

to encapsulate — BkTrouath B ce0s1; 0XBaThIBATh
to epitomile —

to forego —



to give up — oTka3bIBaThCs (OT Yero-1udo)
to imply — nonpasymesars

to plant — caxxatb

to process— 00pabaTbiBaTh

to realize — oco3HaBaTh

to stress — o4epKrBaTh; syn. to emphasize
to survive — BBKMBATh

to tend — yxaxuBarpb

to undertake — npeanpuHUMaTh

ultimate — MakcUMaIbHBIN; KOHSUHBIN

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

Scarce resources; alternative uses; rate of inflation; balance of payments; income
distribution; primitive cultures; unlimited desires level of consumption; means of
production; free gifts of nature; human effort; risk taking; decision making; to
undertake production; availability of resources; the supply of labor; money in
circulation; stock of resources; product mix; allocation of resources; in a variety of
ways; capital-intensive production; labor-intensive production; wind power; wave
power; road links; rail links; ultimate consumers; physical rationing; opportunity
cost; to give up an opportunity; completely different technology.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

CTOMMOCTh YMYIIEHHOW BO3MOXHOCTU (aJbTE€PHATHBBI); COBEPIICHHO WHAas
TEXHOJIOTHUS;, CKYJIHBIE PECypChl; OTKa3aThCi OT BO3MOXKHOCTHU; albTEPHATUBHbBIC
WCIIOJIb30BAHUS; KOHEUHBIC TMOTPEOWTENN; IeHIM B OOpalieHuH; YpPOBEHb
WHQIAANA;,  paclpeieieHne  PECypcoB;  DSHEprust  BeTpa;  (pu3myeckoe
HOPMHUPOBAHUE; HHEPTHs BOJIH, I[€HA YMYIIEHHOW BO3MOXXHOCTH; ILUIATEKHBIN
OajlaHC; TEepBOOBITHBIE KYJIBTYPhI, pPACHpeiesICHHE I0XOJ0B; HEOTpaHWYEHHBIC
JKEJIaHWs, Pa3HOOOpa3HBIMU  CIOCOOAMU; TMPUHSATHE  PEIICHHS; YPOBEHb
norpeOienus; OeciUlaTHbIE Japbl MPUPOJbI; CPEACTBA IPOU3BOJACTBA; PHUCK;
YeJIOBEYECKOEe YCUJIME; HauyaTh MPOU3BOJCTBO; HAJUYHME PECYPCOB; MPEJIOKEHUE
pabouei cuiibl; 3amachl PECypCcoB; CMEIIaHHAs MPOMYKIIMS; >KEJIe3HbIe TOpPOTH;
aBTOMOOMJIBHBIC JIOPOTH.

Exercise 3. Answer the following questions:
1. What does economics deal with?
Why is it confusing to refer to the “economic problem™?
What economic problem do you know?
Why do all of the economic problems arise?
What terms epitomize “the economic problem”?
What fundamental problem do all societies face?
What do economists call the means of production?
What do the means of production consist of?
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9. How is Land defined?

10.What does Land consist of?

11.What does labor include?

12.How can we define Capital?

13.What does Enterprise consist of?

14.Can the economic problem be solved by government increasing the amount
of money in circulation?

15.What would increasing the amount of money in circulation lead to?

16.Why do choices have to be made?

17.What fundamental choices do you know?

18.Want is meant by allocation of resources?

19.What is the basic distinction between capital-intensive production and labor-
intensive production?

20.What is correlation between the efficiency with which we use our resources
and the output that can be produced from any given quantity of inputs?

21.How can we describe a system of physical rationing?

22.What aspect of the problem of distribution does allocating output through
the market rouse?

23.What is the study of economics realty about?

24.How can we define opportunity cost?

25.What must all individuals decide due to having a limited income?

Exercise 4. Translate the following sentences into English:

1. CymecTByeT MHOTO OINpEIEIECHU SKOHOMUKH.

2. DKOHOMHMKA 3aHMMAETCSl pacIpe/elieHneM JACHEXKHBIX PECypCoOB, KOTOPHIE
UMEIOT aTbTePHATUBHOE MCTIOJIH30BAHHE.

3. K okxoHOMmueckum mpobiemMaM MOXKHO OTHECTH TIOBBIIICHUE YPOBHSA
uHGIAMA WM 0e3paboTHIlbl, TUTATEKHBIM  Oamanc, OeTHOCTh U
pacmpesiesieHne J0X0/I0B.

4. Bce »okoHOMHYECKHE MpOOJIEMBI BO3HHMKAIOT M3-32 CYyIIECTBOBAHUS
neduiuTa.

5. Bce oOmectBa, 3a HUCKIIOYEHUEM NPUMUTHUBHBIX  (MIEPBOOBITHHIX),
CTAJIKUBAIOTCSI C OJHOM M TOM ke MpoOJIeMOoii: HeorpaHUUYEHHbIE >KeJTaHus,
HO OIpaHUYEHHAs BO3MOXKHOCTh YJIOBJIETBOPUTD UX.

6. Bce o0miecTBa BiIaIct0T OTpaHUYEHHBIMU CPEJACTBAMU IIPOU3BOJICTBA.

7. DKOHOMHCTBHI Ha3bIBAIOT CPEICTBA ITPOU3BOCTBA PECYpPCaAMHU.

8. Tpyn ompenensieTcss Kak yCUJIME dYelloBeka — Kak ¢usmdeckoe. Tak u
YMCTBEHHOE.

9. llena ynymieHHOW albTEPHATUBBI — 3TO CIEAYIOMIAs IO OYEPEAHOCTH
HamOoJIee KeraeMasl yIyIeHHas albTepHATHBA.

10.JIro00€e penienre o TOM, YTO IPOU3BOIUTD, TAKXKE MPEANONAraeT peueHue o
TOM, KaK IMPOU3BOIUTh.



Unit 2
The Underlying Conditions of Demand

Any factors other than price which might influence demand for a good or
service are grouped together as the underlying conditions of demand.

When a demand curve is drawn, a relationship is plotted between price and the
quantity demanded, other things being equal. These ‘other things’ are the
underlying conditions of demand, and if there is a change in any of these
conditions of demand then the ‘other things being equal’ condition is violated and
the whole demand curve shifts to a new position.

Let us now examine conditions of demand in more detail.

Income i1s an important factor in many decisions to buy. Other things being
equal, an increase in income will increase the number of goods we can afford.
Therefore an increase in income will, in general, shift a demand curve to the right,
while a decrease in income will cause a shift to the left. This happens for most
goods, and we use the term normal good to describe those goods which conform to
this relationship. There is a small range of goods, known as inferior goods, which
people tend to switch away from as incomes rise.

The price of related goods can often affect demand for a particular good. For
example, the demand for one brand of coffee is partly related to the price of other
brands because they are, to some extent, substitutes. In general, a fall in the price
of one product can be expected to reduce the demand for its substitute.

Other goods might be complements — that is they are jointly consumed. Fish
and chips are a good example; in this case a fall in the price of one good will lead
to an increase in the quantity of that good demanded and will cause an increase in
demand for the complement. The opposite is also true, and a rise in the price for
one good will cause a reduction in demand for its complement.

Taste is a broad concept which can be used to encompass many influences on
demand. Taste is a very personal matter, but sometimes it is possible to identify a
fashion or a trend which indicates changes in taste among large numbers of people.
For instance, clothes in particular are subject to frequent changes in design.
However, changes in taste sometimes occur over longer periods. For example,
views on health matters and environmental considerations became much more
important during the 1980s and have had a profound effect on the range of
‘environmentally friendly’ products now produced. When tastes change in favour
of a particular product demand for that product will rise, and when they change
against a particular product demand for that product will fall.

Advertising can sometimes have a marked impact on sales, and indeed can
influence tastes in favour of certain products.

Population change — that is, the size and composition of the population — can
exert a long-term influence on demand. For instance, a general increase in the size
of a country’s population can be expected to increase the demand for most goods
and services. Similarly a change in the structure of nation’s population will
significantly affect demand for different goods and services. For example, an



increase in the number of female births relative to male births would, over time,
have a profound effect on demand for certain goods and services.

Supply

Supply is the willingness and ability of producers to make a specific quantity
of output available to consumers at a particular price over a given period of time.
This willingness together with the ability is sometimes described as effective
supply.

As with demand, price is probably the main determinant of the amount
supplied and economists have formulated a law of supply which states that over a
given time period and other things being equal, the quantity supplied of a
commodity is directly related to its price. In other words, as the price of a
commodity rises, the quantity supplied increases.

The Underlying Conditions of Supply

The law of supply operates on the assumption that other things remain equal.
These ‘other things’ refer to the factors other than price which can affect supply
and are known as the underlying conditions of supply. Changes in any of these
underlying conditions will mean that at each and every price producers will be
able to produce either more or less than before.

The main underlying conditions of supply are as follows.

Money costs of production — that is, the cost of factor inputs (land, labour,
capital and enterprise) — has a major influence on supply. In order to purchase
these factors of production, money will have to be spent. If at any given level of
output there is an increase in costs of production, this will reduce the ability of
producers to purchase factors of production at any given price for their product.

Inter-related supply can be an important factor in some cases. Some goods are
in joint supply, so that variations in the amount of one good produced almost
automatically affect the supply of by-products. Other goods are in competitive
supply, especially when they have an important raw material in common. Thus
liquid milk can be turned into either cheese or butter, and an increase in the amount
of cheese may reduce the supply of butter.

Taxes and subsidies can have an important effect on supply. A tax on the
production or sale of a good or service can be regarded as an increase in costs. A
subsidy on the production or sale of a good or service can be regarded as a
reduction in costs.

The Effect of Changes in the Underlying Conditions of Demand and
Supply

Once price settles at an equilibrium level we can expect it to remain there until
something happens to disturb the equilibrium. This can only be a change in one
or more of the underlying conditions of demand and/or supply which cause
demand and/or supply to shift. For example, if we consider the market for lettuces.



How would this market be affected by a sudden spell of late frost which destroyed
many young plants? Clearly such an occurrence would shift the supply curve to the
left, and this would result in a higher price with a lower equilibrium quantity.
Suppose, instead, that there was a long spell of warm weather, so that people
demanded more lettuces to put in their summer salads. In this case the demand
curve would shift to the right resulting in a rise both in equilibrium price and in
quantity.

Active Vocabulary
assumption — npeaIoKeHue
by-product — mo60YHBII TPOAYKT
commodity — ToBap
complement — 1010IHEHUE
demand — cnipoc
distinction — oTiinuue; paznuuue
impact — BiieueHue
income — 10x071
increase — yBejimueHue
inferior — HU3KMIt; Xy aITUN; MEHBIINH (TI0 KOJIMYECTRY)
inter-related — B3anMocBsi3aHHBII
jointly — coBMecTHO
lettuce — canat (pacTeHue)
major — KpyIHbIii; OCHOBHOM
marked — 3ameTHBII
range — Mana3oH; aCCOPTUMEHT
related — cBA3aHHBIN; POJACTBEHHBIN
spell — neprox BpeMeHu; BpeMsl; CPOK; IPUCTYIT
substitute — 3amMeHa; 3aMEHUTEIb
supply — npenoxenne
to conform to — cCOOTBETCTBOBAThH
to increase — yBEJIMUMBATHCS; BO3PACTATh
to violate — Hapymiarh
underlying — nexaiiye B OCHOBE
willingness — xenanue

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

Underlying conditions of demand; underlying conditions of supply; normal goods;
interior goods; related goods; to some extent; to consume jointly; very personal
matter; frequent changes; over longer periods; health matters; profound effect;
“environmentally friendly”; in favor of certain products; the size and composition
of the population to exert a long-term influence; female births; male births;
available to consumers; effective supply to formulate a law of supply; money costs



of production; inter-related supply; competitive supply; by-products; raw material;
to disturb the equilibrium; a sudden spell of late frost.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

Jlo HEKOTOpOH CTENEeHU; POACTBEHHBIE TOBApbl; OYEHb JUYHOE JIEJ]0; YCIOBHUS,
JeKallie B OCHOBE CIpPOCa; HOPMAIbHBIE TOBApbl; YacTHbIE W3MEHEHUS;
COOOpaXXeHUsI M0 OXpaHe OKPY’KAIoLIEH Cpelbl; Ha MPOTSKEHUU Oosiee T0Jroro
BPEMEHM; BOIIPOCHI 3/10pPOBbs; YCIIOBUS, JIeXkKalllU€ B OCHOBE INPEUIOKEHUS; HE
BpEAHBIE ISl OKPYXKAIOIIEW Cpelbl; 3aMETHOE BIIMSHHUE; BEJIWYMHA W COCTaB
HACEeJICHUs; B MOJIb3Y OIPENEICHHBIX MPOIYKTOB; IIyOOKO€ BIUSHHUE; TOCTYITHBIN
JUI TIOTPEOUTENS; POXKICHUE JEBOYEK; POXKICHUE MaJbYUKOB; C(HOPMYJINPOBATH
3aKOH  MpeANIOKeHus;  IPPEKTUBHOE  MPEAJIOKEHUE;  B3aUMOCBSI3aHHBIC
NPEIOKEHHS; MOOOYHBIE MPOAYKTHI; MOTPEOISATh COBMECTHO; KOHKYPEHTHBIC
IPENJIOKEHHSI; ChIPbE; BHE3AMHBIA MPUXOJ MO3JHUX 3aMOPO3KOB; HapyIIECHUE
paBHOBECHSI.

Exercise 3. Answer the following questions:
1. What is the function of a market?
2. What is usually described as effective demand?
3. What is important to include into demand?
4. What does the law of demand mean?
5. What do you know about the underlying conditions of demand?
6. How does income influence demand?
7. What can you say about inferior and related goods?
8. What impact does advertising have on sales?
9. What is effective supply?
10.What is the main determinant of the amount supplied?

Exercise 4. Translate the following sentences into English:

1. Ilpm npouyux paBHBIX YCIOBUSAX, C YBEIUYCHUEM J10X0/1a YBEIMUNBACTCS

KOJINYECTBO BEILEH, KOTOPHIE MBI CMOXEM IO3BOJIUTH CE0€ KYNUTb.

2. llena Ha poICTBEHHBIE TOBAPBI MOXKET IOBJIUATH HA LIEHY TAKOTO-TO
KOHKPETHOTO TOBapa.
Cripoc Ha OMH COPT CbIpa YACTUYHO CBS3aH C LIEHOW Ha JApyTrHe copTa.
IloBblIEHNE LIEHBI HA OJUH TOBAP BBI30BET CHUIKEHHUE CIIPOCA HA €TI0
JOTIOJIHEHHUE.
Bxkyc — 310 04eHB TUYHOE ZIETIO.
Pexnama MOXeT OKa3bIBaTh 3HAYUTEIBHOE BIVSAHUE HA IPOIAKH.
Ilena, BEpOSTHO, SABASAETCA IIIAaBHOW JETEPMUHAHTON MPEIII0KEHUS.
[Ipennoxkenne — 3TO )KEIAHUE U BOZMOKHOCTH IPOU3BOAUTENEHN CAENIATh
JOCTYIHBIM JJIs1 TOTpeOUTENEH ONpeeIeHHOE KOJIMYECTBO TOBAPOB MO
KOHKPETHOM LIEHE 3a JAHHBIN IEPUOJ BPEMEHMU.
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Unit 3
PRODUCTION

A firm uses a technology or production process to transform inputs or
factors of production into outputs. Firms use many types of inputs. Most of these
inputs can be grouped into three broad categories:

e Capital (K): Long-lived inputs such as land, buildings (factories, stores),
and equipment (machines, trucks),

e Labor (L): Human services such as those provided by managers, skilled
workers (architects, economists, engineers, plumbers), and less-skilled workers
(custodians, construction laborers, assembly-line workers),

e Materials (M): Raw goods (oil, water, wheat) and processed products
(aluminum, plastic, paper, steel).

The output can be a service, such as an automobile tune-up by a mechanic,
or a physical product, such as a computer chip or a potato chip.

Production Functions

Firms can transform inputs into outputs in many different ways. Candy-
manufacturing companies differ in the skills of their workforce and the amount of
equipment they use. While all employ a chef, a manager, and relatively unskilled
workers, some candy firms also use skilled technicians and modern equipment. In
small candy companies, the relatively unskilled workers shape the candy, decorate
it, package it, and box it by hand. In slightly larger firms, the relatively unskilled
workers use conveyor belts and other equipment that was invented decades ago. In
modern, large-scale plants, the relatively unskilled laborers work with robots and
other state-of-the art machines, which are maintained by skilled technicians.
Before deciding which production process to use, a firm needs to consider its
various options.

The various ways inputs can be transformed into output are summarized in
the production function: the relationship between the quantities of inputs used
and the maximum quantity of output that can be produced, given current
knowledge about technology and organization. The production function for a firm
that uses only labor and capital is

q = f(L.K), (6.1)

where ¢ units of output (wrapped candy bars) are produced using L units of
labor services (days of work by relatively unskilled assembly-line workers) and K
units of capital (the number of conveyor belts).

The production function shows only the maximum amount of output that can
be produced from given levels of labor and capital, because the production
function includes only efficient production processes. A profit-maximizing firm is
not interested in production processes that are inefficient and waste inputs: Firms
do not want to use two workers to do a job that can be done as efficiently by one
worker.



LONG-RUN PRODUCTION: TWO VARIABLE INPUTS
"Eternity is a terrible thought. I mean, where's it going to end?" -Tom
Stoppard

We started our analysis of production functions by looking at a short-run
production function in which one input, capital, was fixed, and the other, labor,
was variable. In the long run, however, both of these inputs are variable. With both
factors variable, a firm can usually produce a given level of output by using a great
deal of labor and very little capital, a great deal of capital and very little labor, or
moderate amounts of both. That is, the firm can substitute one input for another
while continuing to produce the same level of output, in much the same way that a
consumer can maintain a given level of utility by substituting one good for another.

Typically, a firm can produce in a number of different ways, some of which
require more labor than others. For example, a lumberyard can produce 200 planks
an hour with 10 workers using hand saws, with 4 workers using handheld power
saws, or with 2 workers using bench power saws.

Active Vocabulary

accurate — TOYHbIN

adept — 3HATOK; SKCIEPT; CBEAYIIUN
advertising — pexyiama (aKuus)
alternatively — nnu xe

amazingly — yIuBUTEIBHO

applicable — nprmeHUMBbIH

brand — copr, kauecTBO, Mapka

buyer — nmoxymnareins

cholesterol — xonecrepun

competitive — KOHKYpEHTOCTIOCOOHBIN; KOHKYPUPYIOIIHIA
complement — fonoHeHUE

consumer — oTpeOUTEIb

definition — onpenenenue

demand — cripoc

distinction — paznuuune

explicit — siBHBII

frustrated — paccTpoeHHBII, HECOCTOSIBIIUINCS
grocery — Oakases

health care — 31paBooxpanenue
incentive — ctumyn

income — noxon

input — BKJ1aJ1, BIOKEHUE, UHBECTULIUS
invisible — HeBuaHMBIN

luxury [k[] — pockonin
merely — npocto



misinformation — ne3undopmanys; HempaBuiIbHAs HH(GOPMALUs
oatmeal — oBcsIHKa; repKyJjec

prediction — npencka3anue

price — ueHa

quantity — KOJIUYECTBO

related — cBA3aHHBIN, POJICTBEHHBIN; UMEIOIIAN OTKJIOHEHUS
repair kit — Habop HHCTPYMEHTOB ISl pEMOHTA (MAaIIMHBI)
retailer — po3HUYHBIN TOProOBELL; JTABOYHUK

seller — npoxasen

shortage — neunut, HemocTaTOK

shorthand — crenorpadus

substitute — 3ameHuTeNH

supply — npemsioxenune

to affect — BiuATH, 3aTparuBatTh

to cause — 3aCTaBIATH

to incur — mojBepraThCs; HaBJI€Ub HA CeO0sl; HECTH YOBITKH
to inherit — HacaenoBaTH

to intervene — BMEIINBATHCS

to point out — Mo TUEPKHYTh

to stand — BEIHOCUTB; TEPIIETh

wealth — cocTosinue (60orarcTBO)

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

A shorthand description; supply-and-demand model; price controls; health care;
agriculture market; labor market; accurate predictions; related goods; competitive
markets; do-it-yourself repair kits; government-imposed limits; genetically
engineered tobacco; critical role; to hold constant; costs of production; all else the
same; technological advance; Government rules and regulations; health insurance;
abstract concept; theoretical possibility; indirect evidence; common goods;
ballpoint pens; explicit coordination; unseen market force; invisible hand; in a way
that; excess demand; specified price; upward pressure on price; excess supply;
storage costs; market clearing price; the price ceiling; the lack of equality; it is
worth pointing out; people’s wants; gasoline shortage.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

[ToTpeOuTenbCKU CIPOC; caMble MOITHBIC MOJICTN YKOHOMHUKH;, PHIHOYHAS IICHA;
JIOXOJIbl MOTPEOUTENEH; COMYTCTBYIOIIUE TOBAPhI; MEXAYHAPOJHAs TOPTOBIIS;
cTeHOorpadMYecKOe OIMHMCAHWE, TOYHBIC MPEACKA3aHUs; TPEBBIIICHUE CIPOCa;
PBIHOK TpyJa; MOJENb MPEMJIOKEHUS U CIPOCa; KOHTPOJIb HAJ IIEHAMHU; PBIHOK
CEJIbCKOXO3SIMCTBEHHOM MPOAYKIMU;, >KEJTAHUS JII0JIeH; CTOUMOCTh HCXOIHBIX
MaTepuagoB; MPU MPOYUX PABHBIX YCIOBHUSIX; KOHKYPEHTOCHOCOOHBIH PBIHOK;
HEMOJ/IHAsI U HEyJoOHas OJIeXka; YPOBEHb XOJECTEpHUHA; TaHOE PYKOIOXKATHE;



HACJEJ0OBaTh  KPYMHOE  COCTOSIHME; CIOPOC HAa  KOHKPETHbIE  TOBaphl;
HAKJIa/IbIBAEMbI€  MPABUTEILCTBOM  OTPAHUYCHHMS; COAEPKAHUE HUKOTHHA;
3IpaBOOXpAHEHUE; 3aTpaThl Ha TMPOU3BOJACTBO; HEBUIMMAS pyKa; HEXBaTKa
O€H3MHA; TEOpEeTHYEeCKass BO3MOXKHOCTb, aOCTpPaKTHOE IMOHATHE; CTOUT
MOAYEPKHYTh; OTCYTCTBUE KAu€CTBA; BEPXHUN LIEHOBOW MpeJei; HUKHSS 1IEHOBAas
IpaHulla; HEBUJIMMAasi PHIHOYHAS CHJIA; SIBHAS KOOPJWHAIMS; CTPAXOBOM IMOJIUC;
pemiaroniasi  poJib; yJIEpKUBaTh IOCTOSHHBIM; KOCBEHHOE JI0Ka3aTesIbCTBO;
HIAPUKOBAs py4Ka; TEXHOJIOTUYECKU MPOTpecc.

Exercise 3. Answer the following questions:

What does the supply-and-demand model describe?

What do you need for using said model?

How can you define the term “demand”?

How can the term “supply” be defined?

What is meant by market equilibrium?

What shock the market equilibrium?

What can government interventions result in?

What kind of markets does the supply-and-demand model apply to?

. What may influence peoples’ tastes?

10 What factors may affect consumers’ purchase decisions?

11.What can higher levels of nicotine in cigarettes result in?

12.What else do we need to know for determining the market price and
quantity?

13.What do costs of production affect?

14.What does a technological advance lead to?

15.What is taxes and government regulations alter?

16.What to indirect evidence that a market is in equilibrium?

17.Does a market equilibrium always occur with explicit coordination between
consumers and firms?

18.What happens to either consumers or suppliers at any price other than the
equilibrium price?

19.What do these disappointed people do to change the price?

20.What is the equilibrium price called market clearing price?

21.What do the price ceiling and price floor examples show?

22.Why doesn’t the quantity supplied always equal the quantity demanded?

23.What is the relationship between the quantity demanded and the quantity
supplied when the government imposes a binding price ceiling on gasoline?

24.Why is the supply-and-demand model useful despite the lack of equality
between the quantity supplied and the quantity demanded?

25.In what way do some people insisting that “demand must equals supply”

define these two notions?
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Exercise 4. Translate the following sentences into English:



1. Mopnenpb «Crpoc ¥ IPEAJIOKEHNE)» ONUCHIBAET B3aUMOICVCTBHE
notpeduresnei 1 MoCTaBIINKOB.

2. HecMOTps Ha ee OrpaHUYEHUS, MOJENb «CIPOC U MPEITI0KEHUE) SIBIACTCS
HanOoJee MUPOKO UCIIOJIb3YEMOU SIKOHOMUYECKON MOJIEIBIO.

3. KonuuectBo TOBapa, TpeOyeMoro noTpeOuTens M1, 3aBUCUT HE TOJIBKO OT
LIEHBI Ha 3TOT TOBAp, HO U OT MHOTHUX JIPYTUX (haKTOPOB.

4. Mogens «crpoc U NpeUI0KEHNEY» IPUMEHUMA TOJIBKO B OTHOLIEHUU
KOHKYPEHTOCIIOCOOHBIX PHIHKOB.

5. IlonuTuka nmpaBUTENBCTBA MOXKET HAPYIIUTh PABHOBECHE PBIHKA, U TOI' /1A
CIPOC HA ONPEIEIICHHBIN TOBap OyIeT OTIMYATHCS OT MPEITIOKEHUS
JTAHHOT'O TOBApa Ha PBIHKE.

6. IloTeHuumanbHbIE MOKYIATENN PEMIAIOT BOIIPOC O KOJIMYECTBE
npuoOpEeTaeMOro MU TOBapa Ha OCHOBAHHH €0 IEHBl U MHOTUX IPYTHX
(GakTOpOB, B TOM YHCJIE B 3aBUCUMOCTHU OT UX BKYCa, JOX0/1a, a TAKXKE IIeH
Ha JIpyTHe TOBApHI.

7. JloXOI Urpaer BaXKHEUIIIYIO POJIb IIPU PELLIEHUH BOIIPOCA O TOM, YTO U B
KaKOM KOJINYECTBE MOKYIaTh.

8. TexHOJOrnyecKkuil Mporpecc, NO3BOJISIONINI (pUupMe NPOU3BOIUTH KAKON-TO
TOBap Npu 6oJiee HU3KOM ce0EeCTONMOCTH, IPUBOIUT K TOMY, YTO (hrupma
IIOCTAaBJISIET IaHHBIM TOBAp HA PHIHOK B OOJIBILIEM KOJIMYECTBE.

9. PaBHOBecue pbIHKa — 3TO HE MPOCTO aOCTPAKTHOE MOHITHE WU
TEOPETUYECKAS] BO3MOKHOCTb.

10.Koraa npaBuTeNbCTBO BBOAUT LIEHOBOE OTpaHMUYEHUE Ha OEH3UH, CIIPOC
HAa4YMHAET MPEBbIIATh NPEJI0OKEHNUE.

Unit 4
PREFERENCES

We start our analysis of consumer behavior by examining consumer
preferences. Using three basic assumptions, we can predict a great deal about
preferences. Once we know about consumers' preferences, we can add information
about the constraints consumers face, so we can answer many questions, such as
the ones posed at the beginning of the chapter, or derive demand curves, as is done
in the next chapter.

As a consumer, you choose among many goods. Should you have ice cream
or cake for dessert? Should you spend most of your money on a large apartment or
rent a single room and use the savings to pay for trips and concerts? In short, you
must allocate your money to buy a bundle {market basket or combination) of
goods.

How do consumers choose the bundle of goods they buy? One possibility is
that consumers behave randomly and blindly choose one good or another without
any thought. However, consumers appear to make systematic choices. For
example, you probably buy more or less the same specific items each time you go
to the grocery store.



To explain consumer behavior, economists assume that consumers have a
set of tastes or preferences that they use to guide them in choosing between goods.
These tastes differ substantially among individuals. Three out of four European
men prefer colored underwear, while three out of four American men prefer white
underwear. Let's start by specifying the underlying assumptions in the economist's
model of consumer behavior.

Food Stamps
I've known what it is to be hungry, but I always went right to a restaurant.
— Ring Lardner

We can use the theory of consumer choice to analyze whether poor people
are better off receiving food stamps or a comparable amount of cash. Currently,
federal, state, and local governments work together to provide a food subsidy for
poor Americans. Households that meet income, asset, and employment eligibility
requirements receive coupons that can be used to purchase food from retail stores.
The Food Stamps Program is one of the nation's largest social welfare programs
with expenditures of $16.9 billion for nearly 19.8 million people per month in
1998.

Since the food stamp programs started in the early 1960s, economists,
nutritionists, and policymakers have debated "cashing out" food stamps by
providing checks or cash instead of coupons that can be spent only on food.
Legally, food stamps may not be sold, though a black market for them exists.
Because of technological advances in electronic fund transfers, switching from
food stamps to a cash program would lower administrative costs and reduce losses
due to fraud and theft.

Would a switch to a comparable cash subsidy increase the well-being of
food stamp recipients? Would the recipients spend less on food and more on other
goods?

Firms and Production
Hard work never killed anybody, but why take a chance?
— Charlie McCarthy

The Ghirardelli Chocolate Company converts chocolate and other inputs
into an output of 144,000 wrapped chocolate bars and 340,000 wrapped chocolate
squares a day. The material inputs include chocolate, other food products, and
various paper goods for wrapping and boxing the candy. The labor inputs include
chefs, assembly-line workers, and various mechanics and other technicians. The
capital inputs are the manufacturing plant, the land on which the plant is located,
conveyor belts, molds, wrapping machines, and various other types of equipment.

Over time, Ghirardelli has changed how it produces its finished product,
increasing the ratio of machines to workers. Several years ago, to minimize
employees' risk of repetitive motion injuries, the company spent $300,000 on



robots, which pack the wrapped chocolate and put it on pallets. The use of robotic
arms resulted in greatly reduced downtime, increased production, and improved
working conditions.

This chapter looks at the types of decisions that the owners of firms have to
make. First, a decision must be made as to how a firm is owned and managed.
Ghirardelli, for example, is a corporation—it is not owned by an individual or
partners—and is run by professional managers. Second, the firm must decide how to
produce. Ghirardelli now uses relatively more machines and robots and fewer
workers than in the past. Third, if a firm wants to expand output, it must decide
how to do that in both the short run and the long run. In the short run, Ghirardelli
can expand output by extending the workweek to six or seven days and using extra
materials. To expand output more, Ghirardelli would have to install more
equipment (such as extra robotic arms), hire more workers, and eventually build a
new plant, all of which take time. Fourth, given its ability to change its output
level, a firm must determine how large to grow. Ghirardelli determines its current
investments on the basis of its beliefs about demand and costs in the future.

The main lesson of this chapter and the next is that firms are not black boxes
that mysteriously transform inputs (such as labor, capital, and material) into
outputs. Economic theory explains how firms make decisions about production
processes, types of inputs to use, and the volume of output to produce.

The Ownership of Firms

In most countries, for-profit firms have one of three legal forms: sole
proprietorships, partnerships, and corporations.

Sole proprietorships are firms owned and run by a single individual.

Partnerships are businesses jointly owned and controlled by two or more
people. The owners operate under a partnership agreement. If any partner leaves,
the partnership agreement ends. For the firm to continue to operate, a new
partnership agreement must be written.

Corporations are owned by shareholders in proportion to the numbers of
shares of stock they hold. The shareholders elect a board of directors who run the
firm. In turn, the board of directors usually hires managers who make short-term
decisions and long-term plans.

Corporations differ from the other two forms of ownership in terms of
personal liability for the debts of the firm. Sole proprietors and partners are
personally responsible for the debts of their firms. All of an owner's personal
wealth — not just that invested in the firm—is at risk if the business becomes
bankrupt and is unable to pay its bills. Even the assets of partners who are not
responsible for the failure can be taken to cover the firm's debts.

In contrast to sole proprietorships or partnerships, owners of corporations
have limited liability: The personal assets of the corporation owners cannot be
taken to pay a corporation's debts if it goes into bankruptcy. If the corporation fails,
the shares become worthless. Because of the limited liability of corporations, the
most that shareholders can lose if the firm goes bankrupt is the amount they paid



for their stock. As a result, people are more willing to buy shares than they would
be if they faced full liability.

In the United States, 90% of business sales are made by corporations, even
though fewer than 20% of all firms are corporations. Nearly 73% of all firms are
sole proprietorships. Sole proprietorships tend to be small, however, so they are
responsible for only 5% of all sales. Partnerships account for 7% of all firms and
make 5% of sales (Statistical Abstract of the United States, 1998).

The Management of Firms

In a small firm, the owner usually manages the firm's operations. In larger
firms, typically corporations and larger partnerships, a manager or team of
managers usually runs the company. In such firms, owners, managers, and lower-
level supervisors are all decision makers.

The various decision makers may have conflicting objectives. What is in the
best interest of the owners may not be the same as what is in the best interest of
managers or other employees. For example, a manager may want a fancy office, a
company car, a company jet, and other perks, but the owner would likely oppose
these drains on profit.

The owner replaces the manager if the manager pursues personal objectives
rather than the firm's objectives. In a corporation, the board of directors is
supposed to ensure that managers do not stray. If the manager and the board of
directors run the firm badly, the shareholders can fire both or directly change some
policies through votes at the corporation's annual meeting for shareholders. We'll
ignore the potential conflict between managers and owners and assume that the
owner is the manager of the firm and makes all the decisions.

What Owners Want

Economists usually assume that a firm's owners try to maximize profit.
Presumably, most people invest in a firm to make money - lots of money, they
hope. They want the firm to earn a positive profit rather than make a loss (a
negative profit). A firm's profit is the difference between its revenue, R, which is
what it earns from selling the good, and its cost, C, which is what it pays for labor,
materials, and other inputs:

nN=R-C

Typically, revenue is p, the price, times ¢, the firm's quantity: R = pq.

In reality, some owners have other objectives, such as having as big a firm
as possible or a fancy office or keeping risks low. However, we will show that a
competitive firm is likely to be driven out of business if it doesn't maximize
profits.

To maximize profits, a firm must produce as efficiently as possible. A firm
engages in efficient production (achieves technological efficiency) if it cannot
produce its current level of output with fewer inputs, given existing knowledge
about technology and the organization of production. Equivalently, the firm



produces efficiently if, given the quantity of inputs used, no more output could be
produced using existing knowledge.

If the firm does not produce efficiently, it cannot be profit maximizing—so
efficient production is a necessary condition for profit maximization. Even if a
firm produces a given level of output efficiently, it is not maximizing profit if that
output level is too high or too low or if it is using excessively expensive inputs.
Thus efficient production alone is not a sufficient condition to ensure that a firm's
profit is maximized.

A firm may use engineers and other experts to determine the most efficient
ways to produce with a known method or technology. However, this knowledge
does not indicate which of the many technologies, each of which uses different
combinations of inputs, allows for production at the lowest cost or with the highest
possible profit. How to produce at the lowest cost is an economic decision,
typically made by the firm's manager.

Active Vocabulary

constraint — NIpuHY>X/I€HUE, CKOBAHHOCTh, CTECHEHUE
crack — HapkoTHK

derive — noyiy4yaTp, yBJIEKATh

elasticity — sacTH4HOCTD, yIPYTroCTh, THOKOCTH, CIIOCOOHOCTH OBICTPO
MPUMEHSTHCS K 00CTAaHOBKE

fancy — ¢anTasus, BooOpaxkeHue, IpuxoTh
legislators — 3akoHOmaTenM

long-run - 1OITOCPOYHBIN

overcompensation — CBEpXKOMIIEHCUPOBAHHE
particular — KOHKpETHBII

premise — peanochbUIKa

recipient — nosy4arenb, peIUITUEHT

recreational — BoccTaHaBIIMBAIOIINI CUIIBI

revenue — JJ0X0Jl, NOCTyIieHUs ((pHUHAHC.)

sensitive — 4yBCTBUTEIbHBIN, BOCIIPUUMYHBBII
short-run — KpaTKOCpOYHBIN

stamp — TajgoH

storage — xpaHEeHHE

subject to — ipu ycimoBum, ¢ COOTIOICHUEM, JIOMTyCKasl, CCIIH
substitution — 3amena

to adjust — mpucnocoOaATHCA, OTPETYIUPOBATH

to condone — MpOCTUTH, IpeIaTh 3a0BEHUTIO

to hire — HaHuMath

to undercompensate — HEJOKOMIIEHCHUPOBATH
well-being — 6i1arococtosinue

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:



To have a sweet tooth; with the tin ear; short-ran elasticities; long-run elasticities;
to adjust for a particular good; ease of substitution; storage opportunities; the
amount of gasoline purchased; to join a car pool; cocaine consumption;
manufacturing firm; around the clock; fixed size; to expand one’s output; the
quantity response; to an increase in price; sales tax; tax revenues; to make accurate
predictions; food stamps; retail stores; individual decision making; a model of
individual behavior; well-being; pleasure from consumption; to face constraints;
by contrast; limits on wealth; to catch smb’s fancy ;“recreational” drugs; the cost
of living; equlibrium price.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

JlonrocpouHass 3JacTUYHOCTh; MPUCHOCOOUTHCA K KAKOMY-TO KOHKPETHOMY
TOBapy; JIETKOCTh 3aMEHbl; KpPATKOCPOYHAs d3JACTUYHOCTh, BO3MOKHOCTHU
XpaHEeHMsI; LEHbl Ha HEePTh; KOJUYECTBO MpHOOpeTaeMoro OeH3MHA; ObITh
CJIaCTE€HOM; MOTpeOIeHne KOKauHa; ObITh UyBCTBUTEJIBHBIM K U3MEHEHUSIM LICHBI;
Opou3BOAAIIAs (UPMa; YBEIUYUTh IPOU3BOJCTBO; KPYIJIOCYyTOYHO; HAJIOr Ha
IPOJAKU; 3aXBaTUTh 4.-TM00 BOOOpaXKEHUE; YOBOILCTBUE OT NOTPEOIEHUS; OBITh
TYTMM Ha YXO; YBEJIHMYMBATh BBINYCK IPOIYKLHH; BIMSHUE NOBBIIICHUS LIEHBI HA
KOJIMYECTBO NMPUOOPETaeMOil MpOAYKIMHU; MOCTYIUICHHUS OT HaJOTOB; TaJOHBI Ha
OPOAYKTHI NMHUTAHUS; JAeNaTh TOYHBIE NMPOTHO3bI; CTOMMOCTb XKU3HU (Tae-1ubo);
0J1arocoCTOsIHUE; OTpaHUYEHHBIE CpEACTBA; MarasuHbl PO3HUYHON TOPIOBIIH;
CTAJIKUBAaTbCAd C NPHUHYKICHUEM; PABHOBECHAs Ii€HA; 0oJiee BBICOKUWA JT0XOJ;
OPUHATUE PELICHUS WHIWBUAOM; MOJENb IOBEACHHUS HWHAMBUAA; MOJEIb
NOBEAECHUS IOTPEOUTEIS; IOTY4YaTh yA0BOJIBCTBUE; U HA00OPOT; HAPKOTUKH.

Exercise 3. Answer the following questions:

1. What do the shapes of the demand and supply curves depend on?

2. What does the duration of the short-run depend on?

3. What are the two factors that determine whether short-run demand
elasticities are larger or smaller than long-run elasticities?

4. What could consumers do to reduce the amount of gasoline purchased, when
oil prices rose rapidly because of actions by OPEC?

5. Why may short-run demand curves be more elastic than long-ran curves for

goods that can be stored easily?

How can a manufacturing firm increase production in the short-run?

How can the manufacturing form increase production in the long-run?

What do legislators want to do before voting for a new sales tax?

What may happen to the legislators if the tax will produce a very large

increase in the price consumers pay?

10.What can we do knowing only the elasticities of demand and supply?

oo



11.What is the supply-and-demand model useful for?

12.What kind of model do to we need to answer the questions about individual
decision making?

13.What premises is the model of consumer behavior based on?

14.Why must all consumers choose which goods to buy?

Exercise 4. Translate the following sentences into English:

1. JlerkocTh 3aM€HbI U BO3MOKHOCTH XpaHEHUs SBISIOTCS BYMs (pakTopamu,
KOTOpbIE  ONpPEAENsAIOT  OoJibllle WM  MEHbIIE  KPAaTKOBpPEMEHHas
IACTHYHOCTH CIPOCA JOJITOBPEMEHHOMN MIACTUYHOCTH.

2. Jlns TOBapoOB, KOTOPBIE JIETKO XPaHUTh, KPUBBIE KPATKOBPEMEHHOIO CIIpOCa
MOTYT OBITh 0OJI€€ 2JTACTUUHBIMH, YEM KPUBBIE I0JITOBPEMEHHOTO CIIPOCA.

3. Eciu gupMa-npou3BOAUTENs XOUET YBEJIUYUTH MPOU3BOJCTBO B KOPOTKHIA
CPOK, OHAa MOXXET HAHATh Pabouux MJI MCIOJb30BAHHUS CBOMX CTAHKOB
KpPYTJOCYTOYHO, HO HAaCKOJIBKO OHA CMOYKET YBEJIHYUTh KOJIMYECTBO
BBIITYCKa€MON MPOAYKIMH OrpaHUYeHO (UKCUPOBAHHBIM pa3MepoM ee
IIPOU3BOICTBEHHBIX IUIOLIAAECH U KOJIMYECTBOM CTAHKOB.

4. B nmonrocpoyHOi MEpCHeKTHBE 3Ta (UPMa MOKET MOCTPOUTH €€ OJIUH
3aBOJl M KYNHUThb JIONOJHUTEIBHOE OOOPYIOBAaHHE W TOTAA JOJITOCPOYHAs
AMACTUYHOCTh MPEUIOKEHUsT JaHHOW (¢upmbl Oyaer Oosibllie, YeM
KpPaTKOCPOYHas.

5. IIpexnae yem roiaocoBarth 3a HOBBIM HAJIOI HA MPOJAKU 3aKOHOIATENIN XOTAT
CIPOTHO3UPOBAaTh  BJIMSHUE JTOrO HAJIOra Ha LEHBI, KOJHMYECTBO
IPOJAaBaeMbIX/TIOKYIIa€MbIX TOBAPOB U MOCTYIIEHUE B OFOKET.

6. 3Has 2IAaCTUYHOCTU CIPOCa U MPEUIOKEHUS, Mbl MOXKEM JeJaTh TOYHbBIC
IIPOTHO3bI OTHOCUTEINIBHO MTOCJIEICTBUI BBEEHUS HOBOT'O HAJIOTa.

7. IlpaBUTENbCTBO BbIAAET OCAHBIM JIIOJSAM TaJOHbI HA MPOIYKThI, KOTOpbIE
OHM MOTYT HCIIOJIb30BaTh B Mara3uHax poO3HUYHOU TOPrOBJIHU, HO TOJIBKO IS
NOKYIIKH ITPOJTYKTOB.

8. IloTpeburenu TpaTAT CBOM JEHBI'M HAa TOBApbI, KOTOPHIC NOCTABISIOT UM
HauOOoJbIIEE YIOBOJIbCTBHE.

9. Bce motpebutenu BBHIHYKICHBI BBIOMPATh, KAaKHE TOBAPHI KYMHUTh, IOTOMY
YTO OrpaHUYEHHbIE CPEJICTBA HE TMO3BOJSIOT MMOKYyNaTh MM BCE, 4TO
3aXBaTUJIO UX BOOOPAKECHHUE.

10.ITonpocTkam 3anpeneHo MoKynarh AJIKOTOJIb U CUTAPETHI.

Unit 5
LONG RUN VERSUS SHORT RUN
The shapes of demand and supply curves depend on the relevant time
period. Short-run elasticities may differ substantially from long-run elasticities.
The duration of the short run depends on how long it takes consumers or firms to
adjust for a particular good.



Demand Elasticities over Time

Two factors that determine whether short-run demand elasticities are larger
or smaller than long-run elasticities are ease of substitution and storage
opportunities. Often one can substitute between products in the long run but not in
the short run.

When oil prices rose rapidly in the 1970s and 1980s because of actions by
OPEC, consumers in most Western countries did not greatly alter the amount of oil
they demanded. Someone who drove 27 miles to and from work every day in a
1969 Chevy could not easily reduce the amount of gasoline purchased. In the long
run, however, this person could buy a smaller car, get a job closer to home, join a
car pool, or in other ways reduce the amount of gasoline purchased.

Gallini (1983) estimated long-run demand elasticities that are more elastic
than the short-run elasticity for gasoline in Canada. She found that the short-run
elasticity is -0.35; the 5-year intermediate-run elasticity is nearly twice as elastic, -
0.7; and the 10-year, long-run elasticity is approximately -0.8, which is slightly
more elastic. Thus a 1% increase in price lowers the quantity demanded by only
about a 0.35% in the short run but by more than twice as much, 0.8%, in the long
run. Similarly, Grossman and Chaloupka (1998) estimate that a rise in the street
price of cocaine has a larger long-run than short-run effect on cocaine consumption
by young adults (aged 17-29). The long-run demand elasticity is -1.35, whereas the
short-run elasticity is -0.96.

For goods that can be stored easily, short-run demand curves may be more
elastic than long-run curves. If frozen orange juice goes on sale this week at your
local supermarket, you may buy large quantities and store the extra in your freezer.
As a result, you may be more sensitive to price changes for frozen orange juice in
the short run than in the long run.

Supply Elasticities over Time

Supply curves too may have different elasticities in the short run than in the
long run. If a manufacturing firm wants to increase production in the short run, it
can do so by hiring workers to use its machines around the clock, but how much it
can expand its output is limited by the fixed size of its manufacturing plant and the
number of machines it has. In the long run, however, the firm can build another
plant and buy or build more equipment. Thus we would expect this firm's long-run
supply elasticity to be greater than its short-run elasticity.

Similarly, Adelaja (1991) found that the short-run elasticity of supply of
milk is 0.36, whereas the long-run supply elasticity is 0.51. As a result, the
quantity response to a 1% increase in price is about 42% (= [0.51 - 0.36J/0.36)
more in the long run than in the short run.

EFFECTS OF A SALES TAX



Before voting for a new sales tax, legislators want to predict the effect of the
tax on prices, quantities, and tax revenues. If the new tax will produce a very large
increase in the price consumers pay, legislators who vote for the tax may lose their
jobs in the next election. Voters' ire is likely to be even greater if the tax does not
raise significant tax revenues.

How much a tax affects the equilibrium price and quantity and how much of
the tax falls on consumers depend on the shape of the demand and supply curves,
which is summarized by the elasticities. Knowing only the elasticities of demand
and supply, we can make accurate predictions about the effects of a new tax and
determine how much of the tax falls on consumers.

Consumer Choice
If this is coffee, please bring me some tea; but if this is tea, please bring me
some coffee.
Abraham Lincoln

Alex's employer wants to transfer him to the firm's Paris office. Although
Alex likes the idea of living in Paris, he's concerned about the high cost of living
there. The firm offers to pay him enough in French francs that he can buy the same
combination of goods in Paris that he is buying currently in the United States. In
terms of what he can consume, will this higher income undercompensate, fully
compensate, or overcompensate Alex for the higher prices in Paris?

The government gives poor people food stamps, which they may use in
retail stores only to buy food. Would the benefit to recipients be greater if they
were given cash instead of food stamps? Would they buy less food?

As we have already seen, the supply-and-demand model is useful for
analyzing economic questions concerning markets. We could use the supply-and-
demand model to examine the market price of croissants in Paris and New York.
However, the supply-and-demand model cannot be used to answer questions
concerning individuals, such as Alex's problem about whether to move to Paris or
whether cash or food stamps would be better for a given individual.

To answer questions about individual decision making, we need a model of
individual behavior. Our model of consumer behavior is based on the following
premises:

o Individual tastes or preferences determine the amount of pleasure people
derive from the goods and services they consume.

e Consumers face constraints or limits on their choices.

e Consumers maximize their well-being or pleasure from consumption,
subject to the constraints they face.

Consumers spend their money on the products that give them the most
pleasure. If you like music and don't have much of a sweet tooth, you spend a lot
of your money on concerts, tapes, and CDs and relatively little on candy. By
contrast, your chocoholic friend with the tin ear may spend a great deal on
Hershey's Kisses and very little on music.



All consumers must choose which goods to buy because limits on wealth
prevent them from buying everything that catches their fancy. In addition,
government rules restrict what they may buy: young consumers cannot buy alcohol
or cigarettes legally, and at any age, it is illegal to buy crack and other
"recreational" drugs. Therefore, consumers buy the goods that give them the most
pleasure, subject to the constraints that they cannot spend more money than they
have and that they cannot spend it in ways that the government prevents.

In economic analyses designed to explain behavior rather than judge,
economists assume that the consumer is the boss. If your brother gets pleasure
from smoking, economists don't argue with him that it is bad for him any more
than they'd tell your sister, who likes reading Stephen King, that she should read
Adam Smith's Wealth of Nations instead. Accepting each consumer's tastes is not
the same as condoning the resulting behaviors. Economists want to predict
behavior. They want to know, for example, whether your brother will smoke more
next year if the price of cigarettes decreases 10%. The prediction is unlikely to be
correct if economists say, "He shouldn't smoke; therefore, we predict he'll stop
smoking next year." A prediction based on your brother's actual tastes is more
likely to be correct: "Given that he likes cigarettes, he is likely to smoke more of
them next year if the price falls."

Active Vocabulary

assets — UMYIIIECTBO, aKTUBBI
assumption — npeanonoKeHue

blind — cnenoii

bundle — HaOop; cBsi3ka

downtime — npocToil (110 TEXHUYECKUM IPUYMHAM, BpEMS [TPOCTOS)
drain — pacxo/I; TOCTOSIHHAs yT€UKa
efficient - ¢ pexTuBHBIN

eligibility — npaBo Ha paboty, Ha 3aHATHE JOJKHOCTH U T.II.
eligible — nmeromuii mpaso

excessive — ype3MEpHBIN, Ype3BbIYaNHbBIN
fraud — MmomeHHMYECTBO

injury — TpaBma

liability — oTBeTCTBEHHOCTH

mold — ¢popma, oTnuBKa, JIeKaJIo0
nutritionist — querosor

pallet — niuTa (KoHBeiiepa)

perk — npuBuierus (ot perquisite)
preference — npeanouyrenue

profit — mpuObLIb

random — XaOTUYHBIN

share — akuus

shareholder —akuunonep

stock — maket akui



supervision — pykoBOJICTBO

theft — BopoBCcTBO

to allocate — accursoBsarts, pacrpenesTh
to assume — npeanonaraTb

to box — ynakoBbIBaTh B KOPOOKH

to run (a firm and the like) — ynipaBisate
to stray — 3a01yIUThCS; COUTHCS C TIyTH
to wrap — 3aBopauMBaTh

wealth — cocrosiHue

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

To pose a question: a bundle of goods; underlying assumptions; black market;
electronic fund transfers; to switch from ... to; comparable cash subsidy; chocolate
bars; chocolate squares; capital inputs; manufacturing plant; conveyor belt;
repetitive motion injuries; robotic arms; current investments; for-profit firms; a
board of directors; to run a firm; short-term decisions; long-term plans; personal
liability; personal wealth; to go bankrupt; to become worthless; personal
objectives; to keep risks low; competitive firm; to drive out of business; efficient
production; technological efficiency; excessively expensive inputs; sufficient
condition.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

bazoBeie mpeamonoxkeHus; mpedepeHINN MOTPEOUTENeH; MOCTAaBUTH BOMPOC;
MOJIYYUTh KPUBYIO CIIPOCA; KPUBAs MPEAJIOKEHUS; KOPOUE TOBOPS; HAOOP TOBAPOB;
BHIOMpaTh BCJCMYyIO, HE JyMas; KOHKPETHbIE MPEAMETHI;  pa3iudaThCs
CYIIECTBEHHO;,  JIOCTaTOYHOE  ycioBue;  3(PGEeKTUBHOE  MPOU3BOICTBO;
00€CIICHUBAThCS; MOHOTOHHOE JIBUKEHUE, KOHBEWepHas JIMHMS; TEKylLIUe
WHBECTULIMM;,  JMYHOE  HMMYIIECTBO;  KOHQIMKTYIOLUIME  LIEJW;  JIMYHas
OTBETCTBEHHOCTh; (PUPMBI, CO3/IaHHbIC JIJIsl OJTYyUYEHUS TPUOBLIN; 00aHKPOTUTHCS;
npeciieoBaTh JUYHbIC IEJIM; YNPaBIATh (UPMOI; yTeuka NPUOBUIM; CHUXKATh
PHUCK; COBET AUPEKTOPOB; KPATKOCPOUHBIC PEIICHHS; JIOJITOCPOYHbIE IUIAHbI,
3aBOJI-ITPOU3BOAUTENb; TUYHOE COCTOSIHHIE; MOJIHBIN O(HC.

Exercise 3. Answer the following questions:

What can one predict using three basic assumptions?

How do consumers choose the bundle of goods they buy?

Do consumers blindly choose one good or another without any thought?
What do economists assume in order to explain consumer behavior?
What kind of program is The Food Stamps Program?

Nk W=



7.

8.

9.

What can one do with food stamps?

Would a switch to a comparable cash subsidy increase the well-being of
food stamps recipients?

Would the recipients spend less on food and more on other goods?
What do labor inputs include?

10.What do capital inputs include?

11.What did the use of robotic arms result in?

12.Who is a corporation usually run by?

13.In what way can a firm expand output in the short run?

14.In what way can a firm expand output in the long run?

15.What forms do for-profit forms have?

16.How can sole proprietorships be defined?

17.How can partnerships be defined?

18.How can corporations be defined?

19.What are the responsibilities of a board of directors?

20.In what way do corporations differ from the other two forms of ownership?
21.What does limited liability imply?

22.In what case does the owner replace the manager?

23.What can the shareholders do if the managers run the firm badly?
24.What do most people invest in a firm for?

25.What must a firm do to maximize profits?

Exercise 4. Translate the following sentences into English:

1.
2.
3.

< N

9.

Kaxk BbI 00bI9HO BBIOMpaeTe HabOp TOBAPOB, KOTOPHIE HYKHO MproOpecTr?
S mpeanounTao MOKynaTh OAHH U TE K€ TOBAPHI, KOT/Ia X0y B Mara3uH.
AHnanu3 noTpeOUTEeNbCKOro MOBEICHUSI OOBIYHO HAYWHAIOT C PACCMOTPEHHUS
NOTPEOUTENIbCKUX TTpedepeHIIUiA.

BonbIIMHCTBO €BpoMeilieB MNpPeanoYuTaoT LBETHOE HIDKHee Oenbe, a
amMepHUKaHIbl — Oelloe.

. IIporpamma TajioHOB Ha MPOAYKThI MUTaHUs ObLIa 3amylieHa B Hayaie 60-

bIX TOJOB.

. Ilo 3akoHyY TaIOHBI HA IPOYKTHI IUTAHUS TPOJIaBATh HEJIb3S.
. CymecTByeT 4epHbIil pbIHOK TAJIOHOB HA MPOAYKTHI TUTAHHUS.
. braromaps TeXHOJIOrMYECKOMY MPOTPECCY B ANEKTPOHHBIX NIEPEBOJAX AEHET

Iepexo OT TAJIOHOB HA MTPOAYKTHI K MIPOTrPpaMMeE JICHEKHBIX BBIIUIAT CHU3WII
Obl AAMUHUCTPATHBHBIE PACXOJAbl ¥ YMEHBIIWI OBl TOTEpU OT
MOILICHHUYECTBA U BOPOBCTBA.

Jns CHWKEHMST pHCKA IOJIYYUTh TPaBMYy OT MOHOTOHHOTO JBUKEHHS
KOMITaHUU TBITAIOTCS 3aMEHUTH JII0JIe podoTamu.

10.KopriopanussMu  BIIaJCIOT  AKIUMOHEPHI  IPOINOPLUOHAIBHO KOJUYECTBY

aKIAU, KOTOPbIE OHU UMEIOT.

11.ITapTHEPCTBO — 3TO OM3HEC, KOTOPBIM COBMECTHO BJIAJCIOT JBa WM Oosee

YCJIOBCK.



12.01rHOYHBIE  TNPEANPUHAMATENM W HapTHEPBI  HECYT  JUYHYIO
OTBETCTBEHHOCTb 32 JOJI'H CBOEH (PUPMBI.

13.B nHebonbmiol ¢upme OOBIYHO BiaAeNel caM YINpaBiseT paboTol Bcel
(bupMBL.

14.Eciiu  MeHeIkep M COBET JUPEKTOPOB ILJIOXO YIPaBISAOT (QUPMOH,
AKLIMOHEPBI MOTYT UX YBOJIUT.

15.11pu 6aHKPOTCTBE KOPIOPALUH €€ aKLIMU 00ECLIEHUBAIOTC.

16.Bnanenbusl KOpnopauuii HECYyT OIPAaHMUYEHHYI0 OTBETCTBEHHOCTB, TO €CTh
UX COOCTBEHHOCTh HE MOJKET MHCIIOJIb30BATbCA JJIs  OIUIaThl JIOJITOB
KOPIIOpALUY IIPU €€ OAHKPOTCTBE.

Unit 6

Supply and Demand
Talk is cheap because supply exceeds demand.

When asked, "What is the most important thing you know about
economics?" many people reply, "Supply equals demand." This statement is a
shorthand description of one of the simplest yet most powerful models of
economics. The supply-and-demand model describes how consumers and suppliers
interact to determine the quantity of a good or service sold in a market and the
price at which it is sold. To use the model, you need to determine three things:
buyers' behavior, sellers' behavior, and how they interact. After reading this
chapter, you should be adept enough at using the supply-and-demand model to
analyze some of the most important policy questions facing your country today,
such as those concerning international trade, minimum wages, and price controls
on health care.

After reading that grandiose claim, you may ask, "Is that all there is to
economics? Can I become an expert economist that fast?" The answer to both these
questions is no (of course). In addition, you need to learn the limits of this model
and what other models to use when this one does not apply. (You must also learn
the economists' secret handshake.)

Even with its limitations, the supply-and-demand model is the most widely
used economic model. It provides a good description of how many markets
function and works particularly well in markets in which there are many buyers
and many sellers, such as in most agriculture and labor markets. Like all good
theories, the supply-and-demand model can be tested—and possibly shown to be
false. But in markets where it is applicable, it allows us to make accurate
predictions easily.

1. Demand: The quantity of a good or service that consumers demand
depends on price and other factors such as consumers' incomes and the price of
related goods.

2. Supply: The quantity of a good or service that firms supply depends on
price and other factors such as the cost of inputs firms use to produce the good or



service.

3. Market equilibrium: The interaction between consumers' demand and
firms' supply determines the market price and quantity of a good or service that is
bought and sold.

4. Shocking the equilibrium: Changes in a factor that affect demand (such
as consumer's income), supply (such as a rise in the price of inputs), or a new
government policy (such as a new tax) alter the market price and quantity of a
good.

5. Effects of government interventions: Government policies may alter the
equilibrium and cause the quantity supplied to differ from the quantity demanded.

6. When to use the supply-and-demand model: The supply-and-demand
model applies only to competitive markets.

DEMAND

Potential consumers decide how much of a good or service to buy on the
basis of its price and many other factors, including their own tastes, information,
prices of other goods, income, and government actions. Before concentrating on
the role of price in determining demand, let's look briefly at some of the other
factors.

Consumers' fastes determine what they buy. Consumers do not purchase
foods they dislike, artwork they hate, or clothes they view as unfashionable or
uncomfortable. Advertising may influence peoples' tastes.

Similarly, information (or misinformation) about the uses of a good affects
consumers' decisions. A few years ago when many consumers were convinced that
oatmeal could lower their cholesterol level, they rushed to grocery stores and
bought large quantities of oatmeal. (They even ate some of it until they
remembered that they couldn't stand how it tastes.)

The prices of other goods also affect consumers' purchase decisions. Before
deciding to buy Levi's jeans, you might check the prices of other brands. If the
price of a close substitute—a product that you view as similar or identical to the one
you are considering purchasing—is much lower than the price of Levi's jeans, you
may buy that brand instead. Similarly, the price of a complement—a good that you
like to consume at the same time as the product you are considering buying—may
affect your decision. If you eat pie only with ice cream, the higher the price of ice
cream, the less likely you are to buy pie.

Income plays a major role in determining what and how much to purchase.
People who suddenly inherit great wealth may purchase a Rolls-Royce or other
luxury items and would probably no longer buy do-it-yourself repair kits.

Government rules and regulations affect purchase decisions. Sales taxes
increase the price that a consumer must spend for a good, and government-imposed
limits on the use of a good may affect demand. If a city's government bans the use
of skateboards on its streets, skateboard sales fall.

Other factors may also affect the demand for specific goods. Consumers are
more likely to have telephones if most of their friends have telephones. The



demand for small, dead evergreen trees is substantially higher in December than at
other times of the year.

Dr. David A. Kessler, former U.S. Commissioner of Food and Drugs,
alleged that Brown & Williamson Tobacco Corporation developed a genetically
engineered tobacco with more than double the amount of nicotine that some other
cigarettes deliver to the smoker. Higher levels of nicotine may increase smokers'
addiction and thus boost the demand for cigarettes.

Although many factors influence demand, economists usually concentrate
on how price affects the quantity demanded. The relationship between price and
quantity demanded plays a critical role in determining the market price and
quantity in a supply-and-demand analysis. To determine how a change in price
affects the quantity demanded, economists must hold constant other factors such as
income and tastes that affect demand.

SUPPLY

Knowing how much consumers want is not enough, by itself, to tell us what
price and quantity are observed in a market. To determine the market price and
quantity, we also need to know how much firms want to supply at any given price.

Firms determine how much of a good to supply on the basis of the price of
that good and other factors, including the costs of production and government rules
and regulations. Usually, we expect firms to supply more at a higher price. Before
concentrating on the role of price in determining supply, we'll briefly describe the
role of some of the other factors.

Costs of production affect how much firms want to sell of a good. As a
firm's cost falls, it is willing to supply more, all else the same. If the firm's cost
exceeds what it can earn from selling the good, the firm sells nothing. Thus, factors
that affect costs, also affect supply. A technological advance that allows a firm to
produce a good at lower cost leads the firm to supply more of that good, all else the
same.

Government rules and regulations affect how much firms want to sell or are
allowed to sell. Taxes and many government regulations—such as those covering
pollution, sanitation, and health insurance—alter the costs of production. Other
regulations affect when and how the product can be sold. In Germany, retailers
may not sell most goods and services on Sundays or during evening hours. In the
United States, the sale of cigarettes and liquor to children is prohibited. New York,
San Francisco, and many other cities restrict the number of taxicabs.

Forces That Drive the Market to Equilibrium

A market equilibrium is not just an abstract concept or a theoretical
possibility. We can observe markets in equilibrium. Indirect evidence that a market
is in equilibrium is that you can buy as much as you want of the good at the market
price. You can almost always buy as much as you want of such common goods as
milk and ballpoint pens.



Amazingly, a market equilibrium occurs without any explicit coordination
between consumers and firms. In a competitive market such as that for agricultural
goods, millions of consumers and thousands of firms make their buying and selling
decisions independently. Yet each firm can sell as much as it wants; each
consumer can buy as much as he or she wants. It is as though an unseen market
force, like an invisible hand, directs people to coordinate their activities to achieve
a market equilibrium.

What really causes the market to move to an equilibrium? If the price is not
at the equilibrium level, consumers or firms have an incentive to change their
behavior in a way that will drive the price to the equilibrium level, as we now
illustrate.

If the price were initially lower than the equilibrium price, consumers would
want to buy more than suppliers want to sell. If the price of pork is $2.65, firms are
willing to supply 194 million kg per year but consumers demand 233 million kg.
At this price, the market is in disequilibrium, meaning that the quantity demanded
is not equal to the quantity supplied. There is excess demand-the amount by which
the quantity demanded exceeds the quantity supplied at a specified price—of 39 (=
233 - 194) million kg per year at a price of $2.65.

Some consumers are lucky enough to buy the pork at $2.65. Other
consumers cannot find anyone who is willing to sell them pork at that price. What
can they do? Some frustrated consumers may offer to pay suppliers more than
$2.65. Alternatively, suppliers, noticing these disappointed consumers, may raise
their prices. Such actions by consumers and producers cause the market price to
rise. As the price rises, the quantity that firms want to supply increases and the
quantity that consumers want to buy decreases. This upward pressure on price
continues until it reaches the equilibrium price, $3.30, where there is no excess
demand.

If, instead, price is initially above the equilibrium level, suppliers want to
sell more than consumers want to buy. For example, at a price of pork of $3.95,
suppliers want to sell 246 million kg per year but consumers want to buy only 207
million. At $3.95, the market is in disequilibrium. There is an excess supply-the
amount by which the quantity supplied is greater than the quantity demanded at a
specified price — of 39 (= 246 - 207) at a price of $3.95. Not all firms can sell as
much as they want. Rather than incur storage costs (and possibly have their unsold
pork spoil), firms lower the price to attract additional customers. As long as price
remains above the equilibrium price, some firms have unsold pork and want to
lower the price further. The price falls until it reaches the equilibrium level, $3.30,
where there is no excess supply and hence no more pressure to lower the price
further.

In summary, at any price other than the equilibrium price, either consumers
or Suppliers are unable to trade as much as they want. These disappointed people
act to change the price, driving the price to the equilibrium level. The equilibrium
price is called the market clearing price because it removes from the market all
frustrated buyers and sellers: there is no excess demand or excess supply at the
equilibrium price.



Why Supply Need Not Equal Demand

The price ceiling and price floor examples show that the quantity supplied
does not necessarily equal the quantity demanded in a supply-and-demand model.
The quantity supplied need not equal the quantity demanded because of the way
we defined these two concepts. We defined the quantity supplied as the amount
firms want to sell at a given price, holding other factors that affect supply, such as
the price of inputs, constant. The quantity demanded is the quantity that consumers
want to buy at a given price, if other factors that affect demand are held constant.
The quantity that firms want to sell and the quantity that consumers want to buy at
a given price need not equal the actual quantity that is bought and sold.

When the government imposes a binding price ceiling of p on gasoline, the
quantity demanded is greater than the quantity supplied. Despite the lack of
equality between the quantity supplied and the quantity demanded, the supply-and-
demand model is useful in analyzing this market because it predicts the excess
demand that is actually observed.

We could have defined the quantity supplied and the quantity demanded so
that they must be equal. If we were to define the quantity supplied as the amount
firms actually sell at a given price and the quantity demanded as the amount
consumers actually buy, supply must equal demand in all markets because the
quantity demanded and the quantity supplied are defined to be the same quantity.

It is worth pointing out this distinction because many people, including
politicians and newspaper reporters, are confused on this point. Someone insisting
that "demand must equal supply" must be defining demand and supply as the
actual quantities sold.

Because we define the quantities supplied and demanded in terms of
people's wants and not actual quantities bought and sold, the statement that
"supply equals demand" is a theory, not merely a definition. This theory says that
the equilibrium price and quantity in a market are determined by the intersection of
the supply curve and the demand curve if the government does not intervene.
Further, we use the model to predict excess demand or excess supply when a
government does control price. The observed gasoline shortages during the period
when the U.S. government controlled gasoline prices are consistent with this
prediction.

Active Vocabulary

assembly-line — cOopouHbIii KOHBElEp
candy — koH(deta

chef — med-noBap; nosap (Myx4unHa)
custodian [A]- cropox

eternity — BEYHOCTh



eventually — B uTtore; B KOHEUHOM CYETE

fixed — puKkcupOBaHHBII; TOCTOSHHBIHI

lumberyard — iecHou cxiian

option — BbIOOD; MpaBo BbIOOpA; IPEAMET BbIOOpa

plank — nocka

plumber — BogonpoBouMK

return — oTJa4a; BO3BpaT; BoO3MelIeHue; 000poT; 10X0; NPUObLIb
skills — kBamuduxanus

to be exhausted — 6bITh HCUEPITAHHBIM; OBITH U3MOXKICHHBIM, U3HYPEHHBIM
substitute — 3aMeHa; 3aMEHUTEIIb; 3aMECTUTENID

to summarize — CcyMMHUPOBAaTh; OJABOJAUTH UTOT

tune-up — HaCTPOMKa; peryJaupoBKa

utility — mosie3HOCTh; BHITOHOCTD; TI0JIE3HAS BEIh

variable — nepemeHHbIN

wheat [i:]- nmenuna

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

Technology process; production process; factors of production; long-lived inputs;
human services; skilled workers; unskilled workers; construction laborers;
assembly-line workers; raw goods; raw materials; processed products; automobile
tune-up; physical product; computer chip; potato chip; candy-manufacturing
companies; modern equipment; by hand; conveyor belts; large-scale plants; state-
of-the-art machines; various options; production function; current knowledge;
wrapped candy bars; efficient production; profit-maximizing firm; a great deal of
capital; a great deal of labor; in much the same way; moderate amount; to maintain
a given level of utility; varying returns to scale; increasing returns to scale;
decreasing returns; equipment-returns to specialization; to be exhausted.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:
®duznyeckuii MPOAYKT; YEIOBEUECKHUE YCIYrd; TIOYTH TaKUM K€ o0pa3om;
YMEPEHHOE KOJMYECTBO; pa3jU4Hble BO3MOXKHOCTH; (upma, noduBaromascs
MaKCHUMaJIbHOW TpPHUOBUIM; COBpEeMEHHOE 3HaHue; 3(P(EKTUBHOE MPOU3BOJICTBO;
TEXHOJIOTUYECKU TIpoliecc; (HaKTOphl MPOU3BOJICTBA; CHIPHEBBIE MaTEPHUAIIBI;
KapToQenbHbIC YUTICHI; KBATU(PUITIPOBAHHBIE PAOOTHUKH; HEKBATU(DHUITIPOBAHHBIC
pabOTHUKU; CTPOUTENbHBIE pabodme; KPYIMHbIE 3aBOJbI, OTJIaJKa aBTOMOOWIIA,
MOJJICP)KUBATh JIAHHBIE YPOBEHb BBITOJHOCTH, TPOM3BOJCTBEHHAS (DYHKIIHS;
KOHBElepHas JieHTa; 00paboTaHHas MPOIYKIHs; pabouyre cOOPOYHOrO KOHBEHepa;
BPYUYHYIO; (DaKTOpHI TMPOU3BOJCTBA; KOHIUTEPCKHE KOMIIAHWU, KOH(ETH B
obepTke;
Exercise 3. Answer the following questions:

1. What does a firm use to transform inputs into outputs?

2. How many categories can inputs be grouped into?

3. What inputs comprise Capital?
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What human services does Labor cover?

What inputs comprise Materials?

What can be included into the output?

What do candy-manufacturing companies differ in?
What do unskilled workers do in small candy companies?
. What do unskilled workers do in slightly larger forms?

10 What do relatively unskilled workers do in modern, large-scale plants?
11.How is the production function defined?
12.Why does the production function show only the maximum amount of

output?

13.In what different ways can a firm produce a given level of output?
14.What does increasing labor and capital result in when a firm is small?
15.What happens to returns to scale as the firm grows?

Exercise 4. Translate the following sentences into English:

. JIrobas dupma uCHOAB3yeT TEXHOJOTHYECKUM WM MPOU3BOJICTBEHHBIN

mporecc IS TpeBpamieHus (GaKTOpPOB IMPOU3BOJCTBA B BBIMYCKACMYIO
POAYKIIHIO.

K BIOXEHHAM ¢ JONTHM CPOKOM CIY>KOBI OTHOCSTCS 3eMJIsl, 3IaHHS
(3aBOJIbI, Mara3uHbl) 1 000pyAOBaHUE (CTAHKHU, TPY30BUKH).

. YenoBeueckue YCIyru — 3TO YCIYIru, HIpcAOCTaBJIICMbIC MCHCILKCPpAMH,

KBATU(UITUPOBAHHBIMUA PA0OTHUKAMU (ApXUTEKTOpPaMHU, HSKOHOMHUCTAMH,
WHKEHEPAMH) U MEHEee KBATH(PUIIMPOBAHHBIMU PAOOTHUKAMU (CTOPOKAMH,
CTPOUTEIISIMHU ).

K cwippeBbIM TOBapaM MOXXHO OTHECTH He(PTh, BOAY, MIICHUIY; K
00pabOTaHHBIM TPOMYKTaM OTHOCHUTCS aJIOMHUHWHA, CTajah, Oywmara,
IIacTMacca.

®upMbl MOTYT TMpeBpamniaTh CXOJHBICE MaTepPHATbl B  BBITYCKAEMYIO
MPOIYKIIHUIO PAa3IMYHBIMHU CIIOCOOaMU.

Ha  HeOOMpIIMX  KOHAMTEPCKHX  MPEIMPHUATHIX OTHOCHUTETHHO
HekBanuduimpoBanuble  pabouue GopMyroT KOH(ETHI, YKpallalT UX,
00epTHIBAIOT U YIIAKOBBIBAIOT B KOPOOKHU BPYUHYIO.

B 6onee kpynHbIX ¢pupmMax OTHOCUTENHHO HEKBATU(PUIIMPOBAHHBIE paboune
UCIIOJIb3YIOT KOHBEUEPHBIE JIEHTHI U IPYyroe 000pyA0BaHHUE.

Ha COBPEMEHHBIX KPYTHBIX MPEANPUATUIX OTHOCHUTEJILHO
HEKBAIM(PUITUPOBAHHBIE paboune paboTaroT ¢ podoTaMu W JPYTUMU
COBPEMEHHBIMH MAIlIUHAMH.

[IpousBoacTBeHHass  (QYHKIMA  TIOKa3blBaeT TOJBKO  MaKCHUMAaJIbHOE
KOJIMYECTBO BBITyCKAEMON MPOIYKIIMU, KOTOPYIO MOXHO MPOHW3BECTU TPHU
JTAHHOM YPOBHE TpyJa U KamuTania.

10.dupma MOKET 3aMEHUTHh OJHMH BBIIYCKAa€MbId NPOAYKT Ha JpPYIou,

ImpoaorKasa COXpaHATb OJHWH M TOT K€ YPOBCHBb BbIITYCKA IIPOAYKIHH.



Unit 7
PRODUCTIVITY AND TECHNICAL CHANGE
Because firms may use different technologies and different methods of
organizing production, the amount of output that one firm produces from a given
amount of inputs may differ from that produced by another firm. Moreover, after a
technical or managerial innovation, a firm can produce more today from a given
amount of inputs than it could in the past.

Relative Productivity

Throughout this chapter, we've assumed that firms produce efficiently. A
firm must produce efficiently if it is to maximize its profit. Even if each firm in a
market produces as efficiently as possible, however, firms may not be equally
productive, in the sense that one firm can produce more than another from a given
amount of inputs.

A firm may be more productive than others if its manager knows a better
way to organize production or if it is the only firm with access to a new invention.
Union-mandated work rules, government regulations, other institutional
restrictions, or racial or gender discrimination that affect only some firms may
lower the relative productivity of those firms.

We can measure the relative productivity of a firm by expressing the firm's
actual output, g, as a percentage of the output that the most productive firm in the
industry could have produced, ¢* from the same amount of inputs: 100glg*. The
most productive firm in an industry has a relative productivity measure of 100% (=
100g */q* percent).

Caves and Barton (1990) report that the average productivity of firms across
U.S. manufacturing industries ranges from 63% to 99%. That is, in the
manufacturing industry with the most diverse firms, the average firm produces
slightly less than two-thirds as much as the most productive firm, whereas in the
manufacturing industry with the most homogeneous firms, all firms are nearly
equally productive.

Differences in productivity across markets may be due to differences in the
degree of competition. In competitive markets, in which many firms can enter and
exit the market easily, less productive firms lose money and are driven out of
business, so the firms that are actually producing are equally productive (as
Chapter 8 shows). In a less competitive oligopoly market, with few firms and no
possibility of entry by new firms, a less productive firm may be able to survive, so
firms with varying levels of productivity are observed.

MEASURING COSTS
To show how a firm's cost varies with its output, we first have to measure
costs. Businesspeople and economists often measure costs differently.

Economic Cost



Economists include all relevant costs. To run a firm profitably, a manager
acts like an economist and considers all relevant costs. However, this same
manager may direct the firm's accountant or bookkeeper to measure cost in ways
that are consistent with tax laws and other laws to make the firm's financial
statement look good to stockholders or to minimize the firm's taxes this year.

Economists consider both explicit costs and implicit costs. Explicit costs are
a firm's direct, out-of-pocket payments for inputs to its production process during a
given time period such as a year. These costs include production workers' wages,
managers' salaries, and payments for materials. However, firms use inputs that may
not have an explicit price. These implicit costs include the value of the working
time of the firm's owner and the value of other resources used but not purchased in
a given period.

The economic cost or opportunity cost is the value of the best alternative
use of a resource. The economic or opportunity cost includes both explicit and
implicit costs. If a firm purchases and uses an input immediately, that input's
opportunity cost is the amount the firm pays for it. If the firm uses an input from its
inventory, its opportunity cost is not necessarily the price it paid for the input years
ago. Rather, the opportunity cost is what it could buy or sell that input for today.

The classic example of an implicit opportunity cost is captured in the phrase
"There's no such thing as a free lunch." Suppose that your parents offer to take you
to lunch tomorrow. You know that they'll pay for the meal, but you also know that
this lunch is not free for you. Your opportunity cost for the lunch is the best
alternative use of your time. Presumably, the best alternative use of your time is
studying this textbook, but other possible alternatives include what you could earn
at a job or the value you place on watching TV. Often such opportunity costs are a
substantial portion of total costs.

If you start your own firm, you should be very concerned about opportunity
costs. Suppose that your explicit cost is $40,000, including the rent for your work
space, the cost of materials, and the wage payments to your employees. Because
you do not pay yourself a salary—instead, you keep any profit at the end of the
year— the explicit cost does not include the value of your time. According to an
economist, your firm's full economic cost is the sum of the explicit cost plus the
opportunity value of your time. If the highest wage you could have earned working
for some other firm is $25,000, your full economic cost is $65,000.

In deciding whether to continue running your firm or to work for someone
else, you must consider both explicit and opportunity costs. If your annual revenue
is $60,000, after you pay your explicit cost of $40,000, you keep $20,000 at the
end of the year. The opportunity cost of your time, $25,000, exceeds $20,000, so
you can earn more working for someone else. (What are you giving up to study
opportunity costs?)

Active Vocabulary



productive — Npou3BOAUTEIbHBIMI

productivity — nporU3BOAUTENBLHOCTh TPyAa

access — J0CTyN

invention — u3o6perenue

gender — pos (’KeH., MyXK.)

diverse — pa3HbIii; pa3HO0Opa3HbIi

homogeneous — o1HOPOAHBIN

to drive out — BHITECHSTh

to survive — BBKMBATh

average — CpeIHUM

to range — HaXOIUTHCA B TUAIa30HE

costs — U3IepKKU (MPOU3BOACTBA)

relevant — yMeCTHBII; OTHOCSIIIUICS K 1Ty

consistent — COBMECTUMBI; COTIACYIOIIANCS
stockholder — akumonep

explicit — SICHBII; TOYHBIN; SBHO BBIPAKECHHBIN

implicit — moapa3zymeBaemplil; He BBIPAKEHHBIN MTPSMO
inventory — onuce; BEIOMOCTh; PEECTp; UHBEHTapU3aIUs
to capture — noiiMaTh; CXBaTUTh; 3aXBaTUTh

presumably — BO3MOXHO; BEpOSTHO; MIPEAIIOIOKUTEIBHO

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

A technical innovation; Union-mandated work rules; institutional restrictions;
managerial innovation; racial discrimination; gender discrimination; relative
productivity; average productivity; diverse firms; homogeneous firms;
manufacturing industry; government managed economies; relevant costs; to be
consistent with tax laws; financial statement; to minimize taxes; explicit price;
economic cost or opportunity cost; annual revenue; to run a firm; total cost;
alternative use.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:

VYrupaBiasate ¢GuUpMON; SBHO BBIpaXKEHHAs I11€HA; TEXHUYECKOE HOBIIECTBO;
YOPaBJICHUYECKOE  HOBIIECTBO; (MHAHCOBBIM  OTYET; TIOJIHAS  CTOUMOCTB;
alIbTEPHATUBHOE MCIOJIB30BAHUE; IOJpa3yMeBacMble (HEBBIPAKEHHBIE SIBHO)
3aTpaThl; OTHOCHUTENIbHAS MPOU3BOAUTEIBHOCTD; YIPABISIEMbIE MPABUTEIHCTBOM
SKOHOMHUKH;  TOJOBOM  JOXOJ;  SIBHO  BBIpAXEHHAs  I1I€HA;  CPEAHss
MPOU3BOIUTEIILHOCTD; (PUPMBI, BBITYCKAIOIIUE OJJHOPOJIHYIO MPOAYKIUIO; PUPMBI,
BBIITYCKAIOLIME  Pa3HOOOpa3Hyl0  MPOJYKIMIO; pacoBas  JUCKPUMHUHAIIMS;
JUCKPUMUHALIUS MO TOJY; COIJIacoBaThCS C HAJOTOBBIMM 3aKOHAMU; IpaBHIIa
paboThl, yCTaHOBJIEHHBIE MPO(CO030M; OTHOCSIIUECS K MPOU3BOJCTBY PaCXOJbI;



MNpsAMBIC TUIATCIKH, SABHO BbIPAKCHHLIC 3aTpPaThbl, IIPOMBINIIICHHAA OTPAaCJIb;
YCTAHOBJICHHBIC OTPAHUYCHMA.

Exercise 3. Answer the following questions:

1.

NN R WD

9.

What can a technical or managerial innovation result in?

When must a firm produce efficiently?

In what cases may a firm be more productive than others?

What circumstances may lower the relative productivity of firms?
How can we measure the relative productivity of a firm?

An what industry across U.S. are all firms nearly equally productive?
What may differences in productivity across markets be caused by?
In what kind of market may a less productive firm be able to survive?
What do explicit costs include?

10.What do implicit costs include?
11.What is the economic cost or opportunity cost?
12.Why should you be very concerned about opportunity costs when you start

your own firm?

Exercise 4. Translate the following sentences into English:

1.

Tak kak (pUPMBI MOTYT UCTIONB30BATh PA3JIUYHbBIC TEXHOJIOTUU U PA3THUYHbIE
METOAbl  OPraHU3allM  MPOU3BOACTBA,  KOJWUYECTBO  BBITYCKAEMOM
OPOAYKIMKA OAHOM (QUPMOW MOXKET CYIIECTBEHHO OTJIMYaThCAd OT
KOJIMYECTBAa MPOIYKIIMHU, BBITyCKaeMOW Npyroil GupmMoil, mpu OJMHAKOBBIX
BJIO)KEHUSIX B MPOU3BOJICTBO.

Cpennsisi TpOU3BOAUTEIHLHOCTh AMEPUKAHCKHX (UPM B TMPOMBIIUICHHBIX
OTpaciiIX HaXOAUTCS B uana3zoHe ot 63% 1o 99%.

. Paznnuus B MMPOU3BOAUTCIIBHOCTH II0 PA3HbIM pPbIHKAM MOXKET OBITh

00yCIIOBIICHO Pa3IMUMSIMH B CTETICHH KOHKYPEHIIMH Ha TUX PHIHKAX.

Ha ppIHKax ¢ BBICOKOH CTENEHBIO KOHKYPEHIIMM MEHEe MPOU3BOAUTEIIbHbBIC
(UPMBI TEPSIOT JEHBI'H M BBITECHSIOTCS U3 OM3HECA.

Ha onuromosbHOM pBIHKE, TJ€ KOHKYPCHIIMSI HE BBICOKA, MEHEe
NPOAYKTHBHAS (PUpMa MOKET OKa3aThCS B COCTOSHUU BBDKUTH, MOITOMY
311eCh HaOII0Ja0TCS bupmbl C pa3IMYHBIMH YPOBHSIMU
MIPOU3BOIUTEILHOCTH.

Uto0s1 5 PexkTUBHO ympaBisaTh (GPUpMON, MEHEIKEp JOKEH J1eWCTBOBATH
KaK DKOHOMHCT U YYUTHIBATh BCE 3aTPATHI, CBA3aHHBIC C TPOU3BOACTBOM.
DKOHOMUCTHI, KaK MIPABUIIO, YYUTHIBAIOT U SKCIUIMIIUTHBIC, U UMIUIAIIUTHBIE
3aTpaThl.

[lena ymymieHHOW abTEpHATUBHI BKIIOYAET KaK JKCIUIMIIUTHBIE, TaK U
UMIUTUITUTHBIC 3aTPaTHI.



Unit 8

Why There Always Are Unemployed People

Even when the economy is growing vigorously and many new jobs are being
created, some people remain unemployed. Why is unemployment apparently a
permanent feature of the economy? Here we discuss frictional unemployment and
structural unemployment, two types of unemployment that always exist in the
labor market and thus prevent the unemployment rate from ever reaching zero.
Frictional Unemployment. The labor market is characterized by a great deal of
searching by both workers and firms. Unemployed workers search for suitable
jobs, and firms with vacancies search for suitable workers. If all workers were
identical and all jobs were identical, these searches would be short and easy:
Unemployed workers would simply have to find firms that had vacancies and they
would immediately be hired. The problem, of course, is that neither jobs nor
workers are identical. Workers vary in their talents, skills, experience, goals,
geographic location (and willingness to move), and amount of time and energy
they are willing to commit to their job. Similarly, jobs vary in the skills and
experience required, working conditions, location, hours, and pay. Because of
these differences, an unemployed worker may search for several weeks or more
before finding a suitable job; similarly, a firm may search for a considerable time
before it is able to hire a suitable worker.

The unemployment that arises as workers search for suitable jobs and firms
search for suitable workers is called frictional unemployment. Because the
economy is dynamic, with jobs continually being created and destroyed and
workers continually entering and exiting the labor force, there is always some
frictional unemployment as workers are matched with appropriate jobs.

Structural Unemployment. In addition to those suffering long spells of
unemployment, many people are chronically unemployed. Although their
unemployment spells may be broken by brief periods of employment or being out
of the labor force, workers who are chronically unemployed are unemployed a
large part of the time. Long spells of unemployment and chronic unemployment
can't be attributed primarily to the matching process. People in these situations
don't seem to search for work very intensively and don't generally find stable
employment. The long-term and chronic unemployment that exists even when the
economy is not in a recession is called structural unemployment.

Structural unemployment occurs for two primary reasons. First, unskilled or
low-skilled workers often are unable to obtain desirable, long-term jobs. The jobs
available to them typically offer relatively low wages and little chance for training
or advancement. Most directly related to the issue of structural unemployment is
the fact that jobs held by low-skilled workers often don't last long. After a few
months the job may end, or the worker may quit or be fired, thus entering another
spell of unemployment. Some workers with low skill levels eventually get enough
training or experience to obtain more secure, long-term jobs. Because of factors
such as inadequate education, discrimination, and language barriers, however,



some unskilled workers never make the transition to long-term employment and
remain chronically unemployed.

The second source of structural unemployment is the reallocation of labor from
industries that are shrinking, or regions that are depressed, to areas that are
growing. When industries find that their products are no longer in demand (for
example, buggy whip manufacturers) or that they are no longer competitive (for
example, U.S. producers of color television sets that lost much of the market to the
Japanese), workers in these industries lose their jobs. At the same time, some
industries will be growing (for example, health care providers and computer
software developers). To prevent unemployment from rising requires that workers
who lose jobs in declining industries be matched somehow with jobs in growing
industries. This matching may involve a long period of unemployment, especially
if workers need to relocate or be trained for a new job.

The Natural Rate of Unemployment. Because of the combination of
friction-al and structural unemployment, an economy's unemployment rate is never
zero, even when the economy is at its full-employment level. The rate of
unemployment that prevails when output and employment are at the full-
employment level is called the natural rate of unemployment, iz. The natural rate of
unemployment reflects unemployment owing to frictional and structural causes.
Although there is no single official measure of the natural rate of unemployment,
many economists believe that the natural rate was in the range of 4% to 5% during
the 1950s and increased gradually to about 6% in the 1980s. Many economists
think that the natural rate fell toward 5.5% or lower during the 1990s.

As output fluctuates around its full-employment level, the unemployment
rate fluctuates around the natural rate. The difference between the actual
unemployment rate and the natural rate of unemployment is called cyclical
unemployment. Specifically, cyclical unemployment = u -ii, where u is the actual
unemployment rate and # is the natural rate. Cyclical unemployment is positive
whenever the economy's output and employment are below full-employment
levels; it is negative when output and employment exceed full-employment levels.

Active Vocabulary
(in)adequate — (He)ageKBaTHBIN
advancement — npoaBmkeHue (1Mo padore)
allocation — pacnpezaeneHue; acCCHrHOBaHUE
apparently — oueBHU1HO
appropriate — NoaAXOASUIMN; YMECTHbBIN
cause — IpuYnHa
employment — 3aHATOCTb
eventually — B KOHIIE KOHIIOB
feature — uepra
frictional — GppuKUMOHHBIII
gradually — nocrenenso
quit — yiiTu (c paboThbI)



reallocation — nepepacrnpeaencHue

recession — craji (B dKOHOMHKE)

software — nporpamMmmMHoe o0OecrieueHue

spell — cpok nocrosiHHO# 0e3padoTUIBI (MHIUBUIA)
stable — ycTOIUMBBII; CTAOMIBHBIN

suitable — moaxogamnmin

to arise (arose, arisen) — BO3HUKaTh

to attribute — npunuceIBaTh

to commit — peiaBaTh; MOJBEPraTh; OpaTh Ha ceOs 00s3aTEIbCTBA
to decline — npuxoAUTH B yNaJ0K; YMEHbIIATHCSA
to fluctuate — xonebaTbcs

to hire — HanumaTth

to last — M THCS; MPOOIKATHCS

to match — mogxoauTts nox napy; COOTBETCTBOBATH
to obtain — nmonyyaTh

to prevail — npeoOnaaaTh; NpeBaAIMPOBATH

to prevent — moMeuIaTh; NIPeIOTBPATUTD

to reflect — orpaxxatn

to relocate — mepepasmenarh

to search — uckarp

to shrink — cxkuMarbcs; yMeHbIIATHCS

to suffer — ctpanarp

to vary — U3MEHATBHCA

training — oOyueHue

transition — nepexon

unemployment — 6e3paboTuiia

vacancy — BaKaHCUs

vigorously — CMUIbHO; DHEPTUYHO; PELIUTEIBHO
willingness — xenanue

Exercise 1. Give the Russian Equivalents to the Following Word
Combinations:

Permanent feature; frictional unemployment; structural unemployment; labor
market; unemployment rate; to search for a suitable job; working conditions;
appropriate jobs; unemployment spell; to suffer long spells of unemployment; brief
periods of employment; to be out of the labor force; to be chronically unemployed;
stable employment; unskilled workers; low-skilled workers; long-term jobs; low
wages; a little chance of training or advancement; low skill levels; inadequate
education; long-term employment; reallocation of labor; depressed regions; buggy
whip manufacturers; health care providers; computer software developers;
declining industries; natural rate of unemployment; full-employment level; single
official measure; cyclical unemployment; to exceed full-employment levels.

Exercise 2. Give the English Equivalents to the Following Word
Combinations:



Huzkue ypoBHM KBaM(UKanny; MOCTOSHHAS 4YEPTa; PHIHOK TPYHa; MOCTOSHHAS
3aHATOCTh, HECOOTBETCTBYIOIEE OOpa30BaHME; Pa3pabOTUMKH KOMIBIOTEPHOTO
nporpaMMHOro  oOecredyeHus;  JACTPECCHUBHBIE  PETHOHBI,  CTPYKTypHas
O0e3paboTuIla; TPEBbINIATh  YPOBEHb  TMOJHOW  3aHATOCTH;  IUKJIAYECKas
Oe3paboTuiia; yCJIOBHsI TpyJa;, B IMOWCKaX MOIXOIAIICH pabOThl; KOPOTKHE
NEPUOBl 3aHSATOCTH; YPOBEHb 0€3pabOTHIBI, MOAXOJAIINEe pabodyme MecTa;
HEOOJIBIION MIAHC MepeyYNBaHUS M TIPOABIKCHUS TI0 CITY>KO€E; MPOJOIKUTEIbHBIN
nepuoa  Oe3paboTuibl (Il WMHAMBHUIA); HEKBAIM(PUIIMPOBAHHBIE pabouue;
JIOJITOCPOYHAS 3aHATOCTh; HU3KHUE 3apIUIaThl; TIepepacipeaesienue paboyeil CHb;
NEPEKUBATH JIIUTEIbHBIE EPUOIbI 0€3pa00THIIBI; OBITh TOCTOSIHHO 0€3pabO0THBIM;
yMUPAIONIME  OTPAcid; ©CTEeCTBEHHBIH  ypOBEHb  0e3paboTHIbI;  eauHas
odurmanbHas Mepa; MPOW3BOIUTENM XJIBICTOB JJIsi KaOpHWOJeTa; MpOoBalIephl B
o0racTu 31paBooXpaHeHus; GPUKIIMOHHAs (MM BpeMeHHast) 6e3padoTuia.

Exercise 3. Answer the following questions:

What is the labor market characterized by?
What do unemployed workers search for?
Who do firms with vacancies search for?
What is called frictional unemployment?
Why is there always some frictional unemployment?
Can long spells of unemployment and chronic unemployment be attributed
primarily to the matching process?
What is called structural unemployment?
What reasons does structural unemployment occur for?
9. Why are unskilled or low-skilled workers often unable to obtain desirable,
long-term jobs?
10.Why do some unskilled workers never make the transition to long-term
employment and remain chronically unemployed?
Exercise 4. Translate the following sentences into English:

A S

* N

1. Hdaxe Torna, Koraa 5)KOHOMHKA Pa3BUBAETCS SHEPTUYHO U CO3JAETCSI MHOTO
HOBBIX pab0OYMX MECT, HEKOTOPBIE JIFON OCTArOTCsl 0€3paOOTHBIMH.

2. bespabotHpie paboune HIIYT MOAXOASANIYI0 paboTy, a (UPMBI HILYT
MOAXOAIINX PAbOUHNX.

3. be3pabotuiia, BO3HHKaOIIasg TOI/a, KOrja padoyue HIIYT MOAXOSIIYIO
paboty, a (GUPMBI — TOIXOIAIIUX pPabOUYMX, HA3BIBACTCS (PPHUKIMOHHOM
oe3paboTuriei.

4. Xponnueckas 0e3paboTuila, KOTOpas CyIIECTBYET Aa)K€ TOT/AA, KOr/a HET

craja 3KOHOMHKH, Ha3bIBAETCSl CTPYKTYPHOI O0e3padoTuLEe.

CtpykTypHas 6e3paboTHIla MPOUCXOIUT 1O ABYM OCHOBHBIM MPUYHHAM.

6. M3-3a Takux (pakTOpoB Kak HEMOAXOAsIIee 00pa3oBaHuE, JUCKPUMUHALUS U
S3BIKOBBIE Oapbepbl, HEKOTOPbIE HEKBaTU(UIIMPOBAHHbIE paboyre HUKOIAA

)}



HE IIOJIY4alOT JOJTOCPOYHOH pabOThl W OCTAIOTCS  XPOHUYCCKH
0e3paboTHBIMH.

Bropbim HUCTOYHUKOM CTPYKTYPHOM 0e3paboTHUIIbI SIBIIICTCS
nepepacnpe/eliecHue TpyJa W3 MCYE3aAONUX OTpacieil WM JeIpPECCHBHBIX
PETHOHOB B Pa3BUBAIOIINE OTPACIIH.

N3-3a coderanuss (QPUKIMOHHOW M CTPYKTYpHOH Oe3pabOTHIIBI ypOBEHB
0e3paboTHIIbI HA B KAaKOW SKOHOMHUKE HE ObIBACT PaBHBIM HYJIIO.



